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-q/%;u.;@dm»éﬁfﬁée,&védlyﬁ Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

[ Question A B c D Al B]c| D]
She is a good speaker. |n addition he also _
1. writes very well. The underlined part of|Emphasis  |{Sequencing |Exemplification {Addition O O O O
sentence is a transitional device of:
2. Re-cognize the Metaphor: égérl;etgiis Some people w::é%%rvs"ing E:hi:vin ike i O O O O
) g phor: dancin are brave. down her a child g
9 cheeks. )
Most of the butterflies Perish in the first frost . L
3. of autumn. The underfined word means: Toremain  |Toendure |Todie To breathe O O O O
Some people are too tat to walk. Negative
connotation of underlined word is: Obese Strong Heavy Plump o O O O
. . He liveson |She was The dog
Which one of the following sentences has|They are . A :
5. o , A the left side of|going to the |chased the O O O
use of transitive verb: running. the road. bank. running cat, O
1 shall assist you in drawing, fam
6. not a good painter. Choose the correct|For example [However Subsequently {According O O O O
transitional device from the following: '
7 If you had worked hard, you would have{Zero Conditional |Conditional |Conditional O O O O
*  passed. What type of sentence is it? conditional | Type-ili Type-l| Type-|
They bought seashells from seashore. A . . - o
8. \Which poetic device is used in this line? Metaphor Simile Aliteration  iPersonification | (O O O O
We ought to help the poors. The modal . - -
3 verb in the sentence shows the function of: Doubt Ability Obiigation Probability O O O O
People usually give the money
10. as zakat in the month of Ramdan. Choose | Away In On Through O O O O
the correct preposition:
Poverty is
. ; : . | performed  jthe main This is the Nobody was
11. Ldfizgf}’om;'igde:gtteer?égg?un used in one |, practical f|hindrancein |shortestway jtheretohelp | O O O O
9 ' myself. development {to school. the injured.
The car which has red doors is mine. The Principal Adjective
12. underlined part of sentence is: Noun clausg Clause Clause Adverb Clause O O O O
. » . Jack and Jill |{Honesty is The crow Please, help
In which of the following sentences g
13. . wentup a the best could not find {me in this
abstract noun is used? hili. policy. water. question. O O O O
14 The hardworking team won the match. |Simple Compound  |Complex 882":’;‘“' O O O O
" What type of sentence is it? Sentence Sentence Sentence P
Sentence
We passed the examination. Which tense {Simple . Past
13. is used in this sentence? present Simple past | Past perfect continuous O O O O
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Time allowed: 2:40 Hours

ENGLISH COMPULSORY SSC-I

NOTE:

0

Total Marks Sections B and C: 60

Sections B and C comprise pages 1-2. Answer all the questions from Sections ‘B’ and ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

Q.2

Note:

SECTION - B (Marks 40)
Read the following passage carefully and answer any FIVE questions including
Question No. (i) appended to it. ‘
Question (i) about summary writing is compulsory carrying 06 marks while rest of the
questions carry 03 marks each.
Cne day, standing at the beside of a young patient, | wondered if she could make the same
recovery like others. Hira had received severe head and spinal injuries as she was hit by a
speeding bus while crossing the busy road. | took her lifeless arms in my hand and tried to do
several exercises on her but in vain. Also, | asked her younger sister to come and talk to her,
thinking that the voice of near and dear one might activate the nearly dead neurons. She could
see but not talk. Her eyes showed a certain helplessness. | could read her mind through her eyes.
Perhaps she wanted to say, “Please help me”. A fellow nurse came near me and asked, “Rahila,
what are you doing? Fighting a last battle?” | was shocked at first to hear a colleague making a
hopeless comment. Then | replied, “l am trying to make her brain process by her sister's voice.
This might help her walk like normal person”. Meanwhile, a senior doctor on duty, walked in. He
gave me an jronic smile and said, “If you spend most of your duty hours on one patient, we will
have to recruit more nurses to attend other patients. Please go and see the other patients. We do
not have much hope for her. | don'’t think that she could ever walk, again”. | was upset. The advice

to leave the patient unattended did not seem right. | knew that she has suffered from major neural

damage, but she needed to be given a chance. An inner voice somewhere within me spoke, “Try
once for her”. | went to the senior nurse and told her that | wanted to help this patient and work
with her more closely. The senior nurse looked at me with utter surprise and remarked that she
had orders form the doctor incharge to shift her to the general ward. The doctors thought she was
hopeless case and the bed must be spared for other patients. ‘

QUESTIONS:

(i)
(i)
(ii)
(iv)
(v)
(vi)
b (vii)

Q.3 a.

0

(1)

Write down the summary of the passage. Also suggest a suitable titie.

What happened to Hira?

To what extent does the recovery of a patient depend upon the doctor and the nurse?
Why younger sister of Hira was asked to have conversation with patient?

Explain the phrase: “Try once for her”.

Describe some qualities of the nurse mentioned in the passage.

Give the synonyms of the underlined words. (Any three)

Paraphrase any ONE of the following stanzas:

| wandered lonely as a cloud (i) Be still, sad heart, and cease repining;
That floats on higher O’er vales and hills, Behind the clouds is the sun still shining;
When all at once | saw a crowd, The fate is the common fate of all,

A host of golden daffodils; OR Into each life some rain must fall,

Beside the lake, beneath the trees, ‘ Some days must be dark and dreary.
Fluttering and dancing in the breeze.

Read the following stanza carefully and answer the questions given at the end:

He gave his harness bells a shake
To ask if there is some mistake.
The only other sound’s the sweep
Of easy wind and downy flake:

QUESTIONS:

(i)

(ii)
(iii)
(iv)
(v)

Write the rhyming words from the stanza.

Explain the phrase “of easy wind and downy flake”.
Write the meaning of underlined words. (Any two)
Who is shaking harness bell and for whom?

~ Which poetic device is used in this stanza?

OR
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QUESTIONS:

(i

(ii)
(iii)
(iv)
v)

Q.4 a.

Q.5

(i)
(ii)
(i)
(iv)
v)
(vi)
(vii)

The angle wrote, and vanished. The next night

It come again with a great wakening light,

And showed the names whom love of God had blest,
And Lo! Ben Adhem’s name led all the rest.

Write down the rhyme scheme of the stanza.

What was the angle writing?

Give the meanings of the underlined words.(Any two)
How did the angle come again?

Why was Ben Adhem’s name on the top of the list?

Fill in the blanks using the passive voice form of the verbs given in brackets to
complete the passage.

First of all, water is (take) in a pan and it is (boil) on medium flame. Then sugar
and coffee are (beat) in the cup by hand for fluffiness. Then boiling water is

(pour) in the slurry and adjustable changes are : (make) as per requirement. The coffee
is then (serve) and (enjoy).

Change the underlined Verbs of the following sentences as directed in the brackets.

(any five)
He here yesterday. (come)
If he works hard, he the competition. (win)
If you , | shall be available. (want)
When you tomorrow? (go)
She (not prepare) for the party yet.
1t (rain) since morning.
We (be) fond of travelling in summer vacation.

Punctuate the following paral/line(s):

The rasool (&)(w‘-”l("u) and his close companion hazrat abu bakr Siddique (%) migrated from
makkah to madinah in the year 622 ad.

SECTION - C (Marks 20)
Write an email to your friend thanking him / her for a gift on your birthday.
OR
Write an application to the Principal for a character certificate.

Write a paragraph of about 80 to 100 words on any ONE of the following:
“Importance of Fashion”

OR

“A visit to an Industrial Exhibition”

Translate the following passage into Urdu:
Now education upto middle level is free of cost so the children of the poor will be able to get the
education. Government of Pakistan has nationalized all schools and colleges. All the citizens of
the country have equal rights and government will award scholarships to intelligent students. They
will be able to get higher education. We shall make Pakistan strong and make efforts for its
development.

OR
Write a dialogue between a student and a teacher about SLO based examination.

——1SA-I1 2301—
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Answer Sheet No.

—U,://._. L/'l)-:/J)JWL/JgLZeJ&VLJI:’/; Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

FAERFNNSERNENFRNEEEREE R ENNNER

Question . A | B . ¢ Db iaAlB|]Cc]|oD
Arabian sea is located in the ofi
Pakistan. i South { East  West {North : O O O O
Which one of the following is the highestf . ; . .
peak of Karakoram ranges? {Tirch Mir :Pir Panjal  {K-2 iNanga Parbat; O O O O
The Salt Range lies to the of the!y, .
Potwar plateau. :North ESOUth {East { West O O O O
What is the density of population in Kalat? {20 110 105 103 O O O O
Economic Cooperation for Development%Pakistan, Eifakrisat:ir;,tan gPakistan, gPakistan, Iran O O O O
(ECO) is comprised of: iIran, Iraq ECt?ina ' ilran, Turkey :India :
Power generation contributes of! 1o oo Lo o :
the air pollution in Pakistan. E5OA> 520/" ;15’6 307A 5 O O O O
The hills near Sargodha are called: 'Kirthar 'Karana §Bakrala ‘Margalla O O O O
Which of these are deep, calcareous.g éMountain
medium to fine texture, low in organic matter : Bhangar soils { Khaddar soils : Sandy soils i O O O O
but very productive? E : : :
The world environment day is observed oni 4 D et o :
of the June every year. ;3 E4 ;5 6 O O O O
Which of the following region experiencengountainous éCoastaI . . %Desert
Maritime Climate. :Region iRegion EPlam Region :Region ; O O O O
In which year the Indian National Congressg
- was formed? 1857 11867 1885 11906 O O O O
After the partition, became the! 5 i . ‘ 5
headquarter of Pakistan Air Force. ;Lahore Quetta i Karachi iPeshawar O O O O
. ) ; ' Jehlum, ' Swat, o o L
-3‘ Which of the following are the rivers of soum!Chenab, : Panjkora, 1Ravi, Sutlej, Porali, Hingol, O O O O
Baluchistan? ' ' ‘Beas :Dasht '
:Indus | Kabul : : : ,
14. Quetta guards the pass. EBoIan iKhyber iLowari éKhunjrab O O O O
. . . L : - EWakham ! . : i
Which of the following are located in the!Zhob, Sibbi, .. . ! Arabian Sea, |Jodpur, Himachal
is. north of Pakistan? ‘Kharan E?:j?liti'stan ‘Thatta, Thar 553;;’;?,*;” ; o O O O

—ISA-Il 2304-1041 —
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GEOGRAPHY OF PAKISTAN SSC-I

| Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12x3=36)

Analyse briefly the significance of Aligarh Movement.

How were Muslims socially different form Hindus in the sub-continent?
Name any three parts of lower Indus Plain.

Narrate any three characteristics of urban areas of Pakistan.

Enlist any six geographical factors which influence the population distribution in Pakistan.

(vi) Identify at least any three Doabs of Pakistan with reference to their geographical location.
(vii) How is climate change affecting the world?
(viii)  List down the' sparsely populated areas of Pakistan.
(ix) What is meant by the térm “site of settlement’?
(x) | How do the external forces affect the surface of the earth?
(xi) Name any six Mughal Emperors who ruled the sub-continent.
(xii) Discuss briefly the term “Atmosphere”.
(xiii)  Briefly write about the process of Chemical Weathering.
(xiv)  Differentiate between soil development and soil evolution.
(xv) What is an earthquake? How it occurs?
(xvi)  Suggest any three measures to control floods.
(xvii)  Briefly discuss the non-agricuttural class and its significance in rural areas of Pakistan.
(xviii) Name any six cottage industries located in the city of Peshawar.
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3  Write notes on the following:

(a)

Mountain soils (b) Sandy Desert soils

Q.4 Give a detailed analysis of Western Mountain Ranges of Pakistan.

Q.5 Identify the Arid Areas of Pakistan, also write about the steps taken by the government for the development of

agricultural activities in these areas.

Q.6 Discuss the major forest types and their distribution in Pakistan.

— 1SA-I1 2304 —
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| | Question Jir A B c D Al B|]c] o]
_ Which believer is declared better by the
| 1. Prophet (i) (c1f6)? Wealthy Poor Weak Powerful O O O O
. ?c‘-k)/l;/“tffgf}"f(é. &?L‘;‘(:/d Al u..q.} u/ A
N, When did Hazrat Zain ul Abidin (&%) die? |gs Hijri 90 Hijri 95 Hijri 98 Hijri O O O O
St S UEHEED AL 2 | 6 585 6490 495 498
. Which two blessing are NOT appreciated by |Exercise & |Health & Money & Sports and
most people? engagement {leisure wealth leisure
3. s .
. ?L/;ﬂ(;ﬁj);ﬁg{uﬁ»&, ca}:/’uld‘/'/: &A1) S =t &l}/}l;k.{ O O O O
- In which of the following surah of Holy
4 Quran, ageedah towheed is described? Al-Kausar Al-Akhlas Al-Falaq An-Naas O O O O
. ?g.muyehﬁwmr\f e Ruimitnldul) 52 Sk 3 JU
) What is the number of Hadiths narrated by
| 5, Abdullah Bin Amr (ﬁ}‘”&)’? 300 500 700 900 O O O O
. ?é_dv;lﬁ\!hkjblw/;j/dﬁlya/’ /u‘? /é_t_ rel vy
Hazrat
. Hazrat Hazrat Musa iMuhammad |Hazrat Adam
5. Who did Iblees envy first? lorahim (&) | (6%) (52) (o) | (1) O O O O
. ' "y’yc_;fﬁ.gﬁbl&“a—w ?flzlaf’ Ve 321“’5‘}.:,,'» f:Tc.v/"’
n (i)
When did Invasion of Tabuk take place? 8™ Hijri o Hijri 10t Hijri 11t Hijri
7.
n s Sttt |6 58 $59 $A10 A1 0 O O O
. How many fasts are required to make
atonement for Qasm?
_ 8, 3 4 5 6
. Yuj&.ﬂl‘/;z.)»iéﬁ;zl&féfj O O O O
] The Prophet (d2) (e (6) declared Coldness of |Coldness of
9. prayeras: ) " .nght of'eyes nght of Heart |eyes heart O O O O
. ?g:/l/g:(/'l/.;_ (‘,C:‘Jif'b)é'l‘yf:/d (}’:/Jur’{f G’;/JJ: JMJU)"FT JJ«-’"JJJ
- Hazrat
| At which Prophet, the chain of Prophet hood| 128t |HazratMusa \Hazrat - {Muhammad
g o ended? Noah(#h) | brahin () [(B2) 0| O O
?mf}ﬂ/,(,fufﬂfgax’ (:).:4/” Cre ?ﬁ”l/,lg/‘” é%’;}.:«ﬁ
R (ife)
- ——1SA-11 2305 (N) —
|
) Page1of1 |
L[
) :




ISLAMIYAT COMPULSORY SSC-I
(NEW)

Time allowed: 2:15 Hours Total Marks Sections B, C and D: 40

NOTE: Answer the questions given in the sections B, C and D on the separately provided answer book
according to instructions.

SECTION — B (Marks 10){ £33 mec®)

Q.2 Write short answers to any FIVE of the following questions according to syllabus: (5x2=10)
(5x2=10) : PP Ll bbitn 24U
The famous arab poet Farzadaq wrote the Qasida in the 2UIES ST 2 S5 e
(i)  honour of Hazrat Imam Zain ul Abidin. Write its translation s r /u'f)} /{ ',/ . (i)
or meaning. -gi"i rx*"y.z/b’mwﬁ,«_»’
(i)  Briefly explain, what is called Sahifa Sadiqgah? ' S eolos B e bblfe oo ss (i)
Write a short note on the life and character of Hazrat Shifa ) :
iy B S e St eise (i)
Bint Abduilah. :
(iv) What are the effects of physical exercise on our body? Write dss M’LH-.;/-&‘}'L&()’ lalifindl (iv)
any four points. S e
(v) Who was Hazrat Ume Sulaim? Give a brief introduction. Sl ?uf? ui’(’? fle ' (V)
Write any two sayings of Hazrat Khawaja Nizam ud Din .
r '(Vi) Aulia (&y) ying ) -u’///d!;l»c.dfé UJlJ,Jl(U:J:I?u/’ ' (Vl)
.. Write the names of two famous works (books) of Allama lbn J‘J L U ol .
(vii) Khaldun( &). Wl nd b gnate  (Vil)
' !
IA
SECTION — C (Marks 16)({ Y meer=)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 8 =16)

Q.3 Write the benefits and fruits of prayer in the light of Quran and Sunnah.
Q.4 Explain the meaning of generosity. Also give examples of generosity and self-sacrifice from the

Messenger (£52) (cr1#6) of Allah (Z8%).
Q.5 Explain in detail the types and effect of monotheism.

(2 x 8 =16) ' B2 LUt B f S S ctivneld]  d

-(_[//,f&l;uu’!}Liljufd":/(}/&jui'} : -3/.’()’)’
_U;/ Ut esta. Jfgu_.:,:s‘:.(u:-”"lf G) fﬁ'ﬁ‘ Jr st 7 5 brrf” 10%] 4 A/db'
_quycﬂa!)‘!/)lrlﬁl&g;ié’ -5/()!)’

SECTION — D (Marks 14)(f A=)

Q.6  Read the following Quranic Verses wnth their translations and answer the questions appended to any

three of these: (3x3=9)
(3x3=9) ' LS F Ml L g NEE :,Gf:.‘;umlu":;.,gw}w Sy

052kl s e 35BN ) SORATR BTN ()
-Lf e St E S A I trlos & Lur‘/../é../u’

So the angles prostrated themselves, all of them except Iblis, he was proud and was one of the disbelievers.

a. What did the angles do on Allah’s command? (01) ?t_,@f‘;u;«ﬁ/'/,(‘ ZSorin
b.  Why did Iblis disobey Aliah’s order? (01) N &L/'cJ(‘ Lhrhiot o
What became of Iblis? (01) o rlfrlf'KU’LI s

Bhah ONSE Y & wx‘sz 23 "‘%,u ;’"i"”“-}"‘?‘: s MuM! ) SR ““u» @& (i)
-4._,muu..«';:’~_£u’ 2t Voo S Auu.((.,g i )umuq;/n S =L (G ,ﬂLH‘I bl a P LV E LI 2t LI SIP

And of mankind is he who pui’chases idle talks to mislead from the path of Allah (Z§%) without knowledge and takes
it (the verses of Quran) by way of mockery. For such there will be a humiliating torment.

a. Explain the meaning of éa’a,gad! ,_’45 (01) - /5,,',,.;'( u_\wt )—6»’ o
What is meant by aﬁ:' o f"’ 3«94 ? (01) ?q_;lfgf;‘ﬁ;\'i o2 el

What will be the fate of those who make fun of

Allah’s verses? (01) V?ru’(ww,’uu,luu&,u J (d-’/)ul L
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And when it is said to them, spend of that with which Allah (8% has provided you, those who disbelieve say

to those whom believe, shall we feed those whom if Allah (8% willed, he would have fed.

a. What is meant by X 5564\;*9’51 ? (01) S e gm, 55(5-\ S
What stubbornness of disbelievers is , ‘

¢ . o —

B escribed? (01) cSud predbu¥ -

c. What did the believers use to advise the (01) 02z S J:,g L s%f;’ulé' i %

disbelievers of Makkah? N
B TSP ERaE SR e b SIS0 s e sk sdigagy ™

-‘L‘lg'ox:((deﬁf)jﬂu@.{_-bﬂgjrﬁ{éb;lj%.l%;ulS’Lfrﬁ‘::&,z’-l«.{l;;u:f:ﬁc'.u‘vgjl’/;luic,_'uzrl!f)’gl

O Mankind! Be afraid of your lord and fear the day when no father can avail any favor for his son nor a son
avail any favor for his father. No doubt, the promise of Allah (#)is true.

a. Whatismeantby 83502 835 &30 2 (01) teie iSOG -

b. What two things are encouraged for all human (01) ¢ ‘aérd: SIS s AU v
beings to fear?

c. What is meant by Allah's (Z8#) promise? (01) Sesl e is E(Ssp)in 2

Y L LA SRRV KA CATA G T 50 5 I S s s SR 1 W 2 [

-u!c);limﬁ-l,",bfu:"mjﬁ;u.’.gL‘;ﬁfriufq//bj.,,T/t--.;_mgditw.ui.l.)(’/..le%(uf},)-wxgau&g-wa,u:u)n Hfﬁ'r‘.?,@

Truly, you are one of the Messengers on the straight path. (This Quran) sent down by the Almighty, The
most merciful, in order that you may warn people whose forefathers were not warned, so they are heedless.

What glory of Hazrat Muhammad (%) (ez=176) (01) e VW St S ifer bt

a.
has been mentioned?
; ; 1
b Which two attributes of Allah (Z8#) are (01) o Siialion STy
mentioned in these verses?
c. What is the wisdom of the revelation of the Holy (01) e T e PSSR L LSS 2

Quran?

Q.7 Read the following Ahadith with their translations and answer the questions appended to any one of
these: (05)

(05) -quaymégmrZé,;&)f&.{lu‘;ﬂu:’z/ywwd}@: 2AUrd

e ahioles pholss . Bl 233160 cas B JaST ()

AL LUt 2 e e e I 2 nstishiief F S U5y
The most perfect believer among the believers is the one who is the best in his conduct and the best of them
are those who are best to their wives.

a.  Whatis the meant by }.95@ j,.ig‘}(;;' ? (01) Sl P c}-ﬁéw}&&&:é -

b. Who is the most perfect believer? (01) ?+uf SrgsJE o
c. Relate this blessed Hadith to our practical life. (01) U z uJ‘” edod St SN e 2

Bnoi.a. 20 R s 'y e LA Lt b S m < iy
308 JBs i st 5 LS 3 6. 5N slas el Jo i 2 (i
_l‘/’),'..‘a)‘.?nll:/f;:ﬂ:/&l./.CJQ’)I:J;!L‘/J;;VLﬁl:&L}u:QJQLUMUC/JL W@‘:’dl(’l}ﬁlfjr/

The messenger of Allah (Z8%) said about the major sins: Associating partners with Allah (§#) and disobeying
parents and killing and telling lies.

- 2 D . AP EA ,&,9 .
a.  Explain the meaning of u;u.j\}]‘é’;ﬁé (01) YA g.-.‘ul‘ J‘U (A TIE
b.  What are the major sins? (01) Sy e
C. Relate this blessed Hadith to our practical life. (01) -u,/ 5 I,J‘; ;.J;JJ’ Sk S Atz wy] 2
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. Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| Question : i A B i c i D LA |B]|C
I Figntwith them unti the is finished. § § §
1 (Al-Anfal 39) 1Wealth ‘Faith ‘Knowledge Wickedness | O O O
. (39JWUI)-§_;JI, S Egs e i !l ; L ;
n For giving zakat, preference should be given: 'Blood :
to: 1 State 'The Needy :Relations 1 Tribe :
2- 1 1] L} - . - '
- %:.l:%d_lé(fc"éc.qcﬁ:"{.ﬁ}"]i;/&/ o L Eag/ LD ; O O O
In case of betrayal, their treaty tog
. 3 them. (Al-Anfal 58) ‘Throw back :Set a side 'Return ‘Put ' O O O
' (s8Jwu) :J}’Ju}l,gf(r;gﬂu:wu’(;diw: Euu@{ E»dlﬁc}.,d 5»0:’ E»m(/ E
n: What ‘4" mean? iDrowsiness iWake up iDream iCovered O O O
G L A L il Hd ot {bgles g
- According to hadith- the best dua is to prayf
for: iMaghfirat  !Riches iKnowledge :Power ;
5. H 1 . ' :
n S Wl A Lics | Fle tFledn O HFL : O O O
N According to Quran which two people are not: Rich and linfidels and - | Believers and ! Scholar and !
6 equal? iPoor 1lgnorant ischolar rignorant : O O O
. ?L)UJ"}JI;/,I/,:(J(?"l»d(L.AjuT/“ 3 \,a/:’/ﬂ/‘ 5 ;'/Jldtlg EHINJW’!‘ sdfku:l')b E
- Hazrat Adam (&%) was bestowed excellence§
;. overangels because of: i Caliphate : Worship EKnowledge ;Morality O O O
" e SV Sl B P e 2 i Ll 1o bt ;
. Quran is called for previous revealed! : : i
books. : b , : .
8. DY Lo e S :
- -« L LUt JidF g i :u‘j :'x | o O O
TAliah is : ] : :
a0 : ienough for  iFor ; E
] g, Whatdoes"diéLis mean? 1you igenerosity  :FearAllah  iForPeace : (O (O (O
. VL ddlas” :c‘:_(j([m,;jl 543..&'.:4:? et séﬁéd E
According to saying of Prophet (%) (cuull 93, ; g : :
. for which deed does Allah (%) open the! 'Making 'Reciting | Getting
10. door of ‘Aafiat'? 1Paying zakat :charity iDarood on  :knowledge ! O _ O O
n » s s
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ISLAMIYAT COMPULSORY SSC-I

Time allowed: 2:15 Hours Total Marks Sections B, C and D: 40

NOTE: Answer the questions giVen in the sections B, C and D on the separately provided answer book
according to instructions.

‘ v SECTION — B (Marks 10)
Q.2 Write short answer to any FIVE of the following questions according to syllabus: (5x2=10)
(i) What is meant by ‘dishonesty’ («4) in Ayat-27 of surah Al-Anfal?

(ii) Which two groups are referred to in Surah Al-Anfal?
(i)  Write the translation (or short explanation) of the verse related to heads of expenditure of zakat.

(iv)  Whatis meant by G‘;j,jbvf‘;ﬂ as mentioned Hadith?

(v) What is the importance of knowledge and wisdom for a believer (0234)? Write briefly.

i What are the instructions of Allah (#§%) for the Muslims regarding the Preparations of jihad in surah Al-
vi
Anfal?

(vi)  What is the best deed (J«=) according to Hadith?
’ SECTION - C (Marks 16)

‘Note: Attempt any TWO questions. All questions carry equal marks. (2 x 8 =16)

Q.3 What is meant by finality of Prophethood? Explain the finality of the Prophethood in the context of the

Holy Quran.
Q.4 Whatis meaning of knoWIedge? Quote the teachings of the Holy Quran in regrd to the importance of

enquiring knowledge?
Q.5 Give a brief introduction of the Holy Quran?

SECTION — D (Marks 14)
Q.6 Translate any THREE of the following Quranic Verses idiomatically: (3x3=9)

e

AGS TR D vEaT T BRI Ud CATEAN 1o R0

-\

>
2% %9 %

' b2 Aoy s PE K » s 47”7 .
o A GBS I B I o B KESE SRS )

. o 4 v
Bl a8, GG B eass Gl (i

ey 2 k4

S SN C KD EE MG TT

BB SE R B e SIS g S UM AL

rd

Q.7 Translate and explain any ONE of the given Ahadith and describe how it is related to our practical
life. and also explain some deeds which contradict the hadith and thus these deeds may be corrected:
(2+2+1=5)

sy

\t:t \

4% -3 ct (1 . 94w 2 p >
—ab0ub T3 s ) AsJB SR ek

2
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A lgi,nf bl leebizd T2, /"/,QKQI,?(;? Ui yc.a,e:“gyzé.:,mr&&/L:,y,,éfd;u:pygmrwr»y OV

(101—."z J/)Fu._/’
(5x2 = 10) gy feliz P Latirble 8 240y

Sl p e 2T Ty (i)
st ol e unSwitderny (i)
W TN TSR VPN ()
¢ i pof e S A BT S S e (V)
_Jf.”if/??:‘_pjlgd/of;rkéégffcugf&,y (v)
P WAL G Sl f Ul Lty (Vi)
I e S edb e o Shpicw  (Vil)
e~ I
(8x2 = 16) i feir Latrna e ddiowr s

-f‘?&]/?afE}LLU’Z.QQTJguT})i?‘g;l/gc_ax’fj :Sﬁ;dlr‘
S eSS ST S5 L 441y
S el KB T) 5401y

U4~~~ Prig—o
(3x3 =9) \ oKL s e lelTdT L 640

- 4\0’ v ~ ZP N . -
ét;r;)’”; 234 a\’{‘é’j\;h &;j‘}&i:“gl‘;z ‘f,’_’j\(’{‘(: (i)
’ P PP S A 2%, » A 2 et .
®<f,’,’°,.p.£=,;" S5 ’WSJ""‘ La’_’u/_h’}g.""l,’&;w}. Ji-':w, 53565 \Z‘/WJ:.. ‘M"/j:é)\))s:o AV (if)

2 > %

’ TR PR A LT (¢ ] > der ot
é,::/‘}&g‘.‘,&ﬁl’dﬁ‘u‘f)&%‘ cavs G alls (i)

0%k ENE BT T KT G M G EKTF W)
. L2y bl —’ » 'L "€ P N 27 rr v
SUen 5255 481 Bl e SIS e s UM AZTS ()

(2+2+1 = 5) Lacionl éft,fc,‘fﬂdmb’m’gnz,f(’;/" 3 J}b/wsgl(ffc—gﬂgt:g/ﬂ ‘ : :7/dl)’

-;Iau,u'urb’e:ﬂebwdﬁ'f a
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| | Question Jir A B [ D Al B ]| c | b |
- : Do not
The worst of the beasts in the sight of Allah{understand Live in
. 1. are those deaf and dumb who: (Al-Anfal 22) {any thing Are animals {Makkah Are Feeble O O O O
n Qs 2t S pina e B L L | & UK S5 Szt S Ut
According to last Prophet A (cusd &4),iCircle of Circle of Circle of
. 2. which circle is better than the circle of zikr? |power knowledge |Circle of rich |leadership O O O O
te pe St d S sufOv L\ W BESS | de S o |SHAdunf
B According to surah Al-Anfal if there are
thousand steadfast Muslims, they williTwo Three
. 3. overcome: (Al-Anfal 66) thousand thousand Two hundred {Twenty O O O O
(66JE;UI)?LJ_,Y.,JE4/(Z!/ZUU//! /’;..QJU:/[_.JG;UIB/}’ Njw A /;(j ) it ‘
- ' Reciting
According to saying of Prophet Ay Darood on
. 4 (omdl 23) for which deed does Allah (%) Making . iLast Prophet |Getting O O O O
" open the door of ‘Aafiat'? ' Paying zakat |{charity Ate ol S8 tknowledge
n Vedey,J SO b O Lo Lot o BOES S o finds 4 5ae e B U (oSS
v S'q_lj){oilw -2
| In heads of expenditure of zakat what does
5. " —t.’'mean? { The poor Debtors {Captives Thetravellers| O O O O
. ?‘g:l/_l)’c.,“.,zﬁ'/”u:._;/wé'u':(i c/lrl/ J)’J;f.‘ ‘rﬂi /(/
B . What does “o8”"mean? c You get Manr Weak ’
6. 258" mean? aravan ou ge anner ea
- [ g S5 5 et Wy i @il nF O O O O
According to the hadith what should be v
. closer to the . believers (0<s<) than Last Prophet :
7. themselves? Worship Hereafter e el S5 {Piety O O O O
» S bty A oS e U U b L | 2ol 4 i B U |6 :
. :«l)'(,(
- Remember when you were considered few :
g, and in the land. (Al-Anfal 26) More Brave A little Feeble O O O O
] Q6Jsn).E 2w d I Letif Sy |k sl Y a2
In which surah is it stated that
. Muhammad gl (0wl &3) is the lastjSurah Al- Surah Al- Surah Al- Surah Al-
3 Prophet? Ahzab Mumtahanah jAnfaal lkhlas o O O O
. ve‘_uy_b’i_mjdi‘u’émf’l('u BF 4= o i | a7y 5.y Joiy S '
. Increasein  |Seeking Beneficial
What does “lsfizly” mean? Lost Property |knowledge {knowledge |knowledge O O O O
10. ?
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ISLAMIYAT COMPULSORY SSC-I

Time allowed: 2:15 Hours Total Marks Sections B, C and D: 40

NOTE: Answer the questions given in the sections B, C and D on the separately provided answer book
according to instructions. :

SECTION - B (Marks 10)
Q.2  Write short answer to any FIVE of the following questions according to syllabus: (5x2=10)

()  Which event does ;’55{ 93‘ ,_)g”_.__.

() In Surah Al-Anfal what are the instructions of Allah (£§%) regarding the dlstnbutlon of the spoils of war?
(i) Whatis the practical form of love for the Prophet # &usill (34 for fulfilment of faith?

(iv) Zakatis a source of social welfare. Explain briefly.

_’T’ 2 l 3 referto?

(V) What did Allah (Z8%) say about the prisoners in surah Al-Anfal?

(vi)  Briefly describe the services rendered by Hazrat Abu Bakar (##) in the preservation of Holy Quran.

(vii)  Write any Hadith (or its translation) about the importance of knowledge.

SECTION - C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. ‘ (2 x 8 =16)
Q.3 Why is it important to follow the teachings of Holy Prophet & oauill o342 Write in detail.
Q.4 Explain the excellence of khowledge in the light of Quran and Hadith.
Q.5 Write a detailed note on the obligation and importance of zakat.

SECTION - D (Marks 14)

Q.6 Translate any THREE of the following Quranic Verses idiomatically: (3x3=9)

ol IASy T T et G e 3020 Al bt FISHI00 66 uzi’abm 50
wWrd 4

@ﬁ%’wb"!’”wwééijwt \%&ng\gpng@\y I35 i

O GEMRt mJG’.&:\?%’LL&’ GAEREI W i

; 25 v, v g 5 BzEtey
Sl T B P L S5 BEHS

05 e S R s ANAE o, 2R 212
@%tg(cgpm’ SEoe M dwu;buy,,:l;} )

.

Q.7 Translate and explain any ONE of the given Ahadith and describe how it is related to our practical
. life and also explain some deeds which contradict the ‘hadith and thus these deeds may be corrected:
' (2+2+1=5)

iUl e g 130sTgedd 0

} b

N

rd

G 3 Nibise s 5D @
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2' l_ T . |— l.' 1
I ke tedbicald e s s G 0 0 0 0
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.S. The number of sematic religions arci: Eiflve EFour iT{wree ETwo 5 O O O O
- ,luJ,/,udl/;ég EA-f iuf i» E

] : 12nd important | ; :
6. Fasting is in Islam. sFlrst worship Eworsmp EUnnef;essary EF.’rohlb:ted | O O O O
. - SISO 11 i :—)?ﬂ!& ; VA1 9 i Unrp E c E
Etiquettes are the rules that are: EFormal Elnforrnal EObli ation iUnnecessa
W, Fraucfesareiendes o o A el o 0 O O
UL e T Py s VA7V :
. — ST S a
. The manners of ofﬁce“sﬂ usually comprise of: gLong essays %Stones ETradltlons EAn~ecdotes O O O O
. L) 4 o T L J6s 1 ) ;uﬂf ey, 1y :
n Florence Nightingale received the Royal Red!Quaid-e-  {Queen of  :Khan Liagat | ; '
Cross Award form: ‘Azam 'Great Britain :Ali Khan ‘Imran Khan |
9. s ooie : : : :
. Sl S ud J:ﬁcétd;ﬁir” 13 g.,«s;,ﬁ ;un;d‘.:}yuu Tt : O O O O
Imam Ghazali (424) was born in: 1067 AD §1064 AD 11058 AD 1054 AD
B gt : : : O O O O
vl S Mdfyrl.! LAY #1067 LURUr2 1064 HAUr£1058 LAY 1054 !
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ETHICS SSC-I

Time allowed: 2:15 Hours

provided answer book. Write your answers neatly and legibly.

Total Marks Sections B and C: 40
NOTE: Answer any eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

SECTION — B (Marks 24)

Q.2  Attempt any EIGHT parts from the following briefly. (8 x3=24)
(i) How does religion protect people from psychological diseases?
(i) What are good manners?

(iii) Write the names of two sects of Jainism.

(iv) Briefly describe concept of worship in Islam.

(v) Which is the holiest city of Hindus?

(vi) Write briefly about Mahavir's disciples.

(viiy  Write down three manners of the temple.

(vii)  What is necessary for a Muslim while entering the masjid?

(ix) How should we talk in offices?

(x) How to deal with security staff at bank?

{xi) Why did Florence Nightingale choose the profession of nursing?

SECTION - C (Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks. (2x 8 =16)
Q.3  Describe the personal significance of religion in detail.
Q.4  Write a detailed note on the services of Florence Nightingale in the field of nursing.
Q.5  Write detailed notes on any two of the following:
a. Hinduism and worship b. Islam and worship c. Manners in offices
(24m? SYfr1eoo
(8x3 = 24) itz B Lan(08) M S e fidi g it iy
C oKl Ly (i) tetlr e ugle QLS Ui (i)
LS et (V) L Lent (i)
Wl AL UnSEL (Vi) \PRPBTY S g P 1Y, (v)
Se s P sl Pyt d Lo i (i) ST E Lo (Vi)
el Loed kvl () e B (0
Soud sk Bl Measd ()
(16~ f)("r._/?
(2x8=16) s f Ludr0-gES Jrne s
LIS eadsls Ay
i S uns L B Ay
NN /,»o/ e i3t 0 AUl

TLZ6 (@) eaulet (&) sl ()
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Answer Sheet No.
I fmernd LS L e Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: = Candidate Sign.
| Question Ui A B c D AlB]|]c]| |
1. How many millimeters are there in 200cm? |{200mm , 500mm 800mm 2000mm O O O O
sl s ed 3 2 8 200] #4200 2500 U800 42000
If an object is moving with constant speed
then its distance-time graph will be: = = = =
5 Pt S P A Lip e G § g g g O O O O
S‘fy:l,;fbjlf 'g g g \_/ .g
§  time(t) J time(t) + time(t) > ] tmewm
When a car is moving with velocity 40ms™
slows down uniformly to 20ms™ in 4
d. Then the retardati duced b
3. ts::?:gr is: en the retar glon produced BY! 3 s —4ms™ —5ms™ ~6ms™ O O O O
Suf e inre /e 7 40ms™ KL
Yb’nlj‘f#/l;/%(.‘aéw 20ms"
Less " {Same Same Less
An object is taken from earth to moon should{mass/same jmass/more |mass/less mass/less
4, have: weight weight weight weight O O O O
Wl AT elle gt o3I L | wisbee LI oimil Ao £ {unfT el ot Tyl
The unit of co-efficient of friction is: .
. IN k watt It has no unit
-+ NS RIS g © O O O
Two masses are separated by a distance »
if both masses are doubled, the force of .
interaction between the two masses 1/ 1/ &
6. changes by a factor: 2 times 4 times A times A times O O O O
yl,-»&ﬂ»?g:/b@fytﬂ»ﬁ; VJJGUL//JL/"L» o l.f/lg JL‘?UU’)T JL‘ga/(jh?i,\.{l
sinte Fus? )]
According to first condition of equilibrium: _ _ _ _
7. 2FE =0 2m, =0 27, =0 2P =0
b L Lty O O O O
The angle at which X and Y components of
a force are equal is: . .
8 ?@Lﬂ/,l/,&»j;,quld—‘{}[X LJ/)‘QJ/'L“,;I}(/ 0 30 45 60 O O O O
Page 1 of 2 |
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| | Question Jir A B c D AlB|lc ]| o]
Asma weighing 500 N takes 90 s to reach the
top of a hill 9m high. Her average muscle
power is: 3.24 W 328W 50 W 250 W
0. UIAIEO0L £ 45 iy 2 of Wi e 50| w324 211328 250 201250 O O O O
-Jytu&kﬂl JJ!
Which of the following is NOT used to
measure pressure? 4
10. Ce s d Ledppas g |Am Pa Bar Kgm O O O O
310 K in centigrade scale is:
R o o 2] o
11. IS A SE S0 37°C 310°C 63°C 273°C O O O O
The best absorber of radiation is a body Highly
whose surface is: White Grey Dull btack polished
12. -etx LK{JK;Jy»Qﬁ’Lﬁl_/ 4 4./ IJKJ';/'L ,u,é___ O O O O
——18A-1l 2307-1071 —
ROLL NUMBER
. F=ghR% . g =16ms> . g =10ms”
r
(v ) £
.  a= . f. = p,(mg) . —L =tanf
t F,
. T.=T,-273 . P= L
t
Page 2 of 2 |




Time allowed: 2:45 Hours

PHYSICS SSC-I

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

Note:
Q.3

Q.4

Q.5

SECTION - B (Marks 33)

Attempt any ELEVEN parts. All parts carry equal marks. (11 x3=33)

(i) The hair of a horse grow at the rate of 0.5mm per day. Find their growth rate in nms™ .

(ii) Under what condition will displacement be equal to distance?

(iii) A train starts form rest. It moves through 2km in 100s with uniform acceleration. What will be its speed at
the end of 100s? ‘

(iv) Briefly explain the term ‘inertia’.

(v) A body has weight 40N. How much force is required to move it with a string vertically upward with
acceleration of 2ms™. _ _

(vi) Why is a vehicle made heavy at the bottom? Its height is also kept as low as possible. Explain briefly.

(vii) A force of 200N makes an angle of 60° with x-axis. Resolve this force into rectangular components.

(viii)  Calculate the mass of earth using law of gravitation. (Diagram is not required)

(ix) Calculate the energy released if two kilogram of uranium is completely converted into energy.

(x) Write a short note on green house effect.

(xi) What is meant by elasticity? Also compare stress and strain.

(xii) What is power? Write its formula and S.| unit.

(xiii)  Why are small gaps left when the steel girders are installed in walls?

(xiv)  Evaporation causes cooling. Explain briefly with one example.

(xv). In certain places, birds can fly for hours without flapping their wings. Explain briefly.

SECTION ~ C (Marks 20)
Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)

a. Explain different types of motion and give an example of each.

b. A bullet of mass 40g moving with velocity of 20ms™ penetrates into a sand bag and is brought to rest in
0.1s. Find (a) the depth of penetration in metres. (b) The average retardation force exerted by sand bag
in newton.

a. What is meant by resolution of force? How can a force resolved into rectangular components? Explain
with example.

b. Derive the formula for the orbital speed of an artificial sateliite.

a. State and explain Archimedes principle.

Make the following conversion:

(i) 0°C to Kelvin (ii) 273°C to Kelvin
(iii) 0K to Celsius (iv) 100°F to Celsius
— 1SA-ll 2307—
v, =V, +at . S=v,t+lat2 * Fa=T-W
2
F,=Fcosf e« F =Fsiné . p=£
Yy

Y|
g, =10ms™ . R =6.4x10°m . G =6.673x10" Nm*kg™
E=mc? . F=ma . 2as=vf2—v,.2
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Answer Sheet No.
LI LS L s £y, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| Question Jw A B c D AlB|c]|oD
The ‘atomic mass number of an elerment is
35. It has 17 protons in its nucleus. What
number of neutrons it will have in its{ .
nucleus? 17 18 19 20 O O O O
[.Jr-u;uzrie;/,17u:u:“z£1‘¢35/'uw’:w’/&_ﬁ
AP SENCVENNE
Acetic acid is a colorless liquid with a
characteristic vinegar like smell. The use of
technology and ways to obtain acetic acid on|Inorganic Bio Industrial Analytical
the large scale comes under: . Chemistry Chemistry Chemistry Chemistry
(ke dndod St P e Bubi LitaEu| it & Al W it ALALE O O O O
Cad S S P b B L S I3 pil¥ G :
?b’}f/’ﬂjlg‘j(
Find out the position of Cl in the periodic
table by considering its electronic
configuration: . . . .
Period=2, Period=3, Period=3, Period=5,
Is*,25*,2p°,35,3p’ Group=5 Group=2 Group=7 Group=2 O O O O
Petiodic ) S Mys 2L, Fafozs 3RS (CD¥ |52 fazis  |2=gulasis |12 f3=is 2200 S5 s
L P (Table
In the following reaction identify whether “O” Neither
has been oxidized or reduced? First oxidized |oxidized nor
2H,+0, »2H,0 Oxidized Reduced then reduced {reduced O O O O
m-/’u_:lﬁ(o)f-{wﬁqufr}v,f_xz/:fd'wéy.fa» B Ieths AnfpAid et
St s2(Reduce) 14 4e PR LY, PR VLY
Which one of the following is used to
estimate the age of carbon-containing
substances in a process called carbon
dating? C-12 C-13 C-14 C-15
..:«Lf/‘}:jy J,M/Kuff Lu@iwﬁu’airjﬂ)fcuﬁaﬁ(w ) ) ) ) O O O O
Sebudind Lo 4]
Metallic elements in the group II-A are Transition Alkaline earth
called: Noble metals |metals Alkali Metals |metals
cteld Ll LAt | L Foodi) | L gz | O O O O
Page 1 0of 2 |




I Question Jir A B c D A | B | c I D l o
Which one of the following is the correct .
order representing oxidizing power of
halogens?
7. . Br,>ClL >F, | F,>Cl,>Br, |Cl,<F,<Br, |Cl,<Br,<F
LliLJ&'VJ/;&j)’IMJ}ZAﬂ_.J}U)[cJuﬁ(yz: e e D po e O O O O N
fearne .
Liquid in ]
Brine is an example of which solution? liquid Solid in Liquid | Liquid in Solid{Solid in Solid )
8. S JSI¥ LS e tsbtaiia |G AUl S UAUUS O O O O .
Which one of the following elements belongs -
to group I-A? ,
9. . K Li Be C
?%D(JWLA-II%J//J’L’U’(L(J%}@A O O O O .
Which one of the following elements is NOT
10 a Noble metal? Platinum Silver Palladium Gold .
) ?‘Ld\:al’)‘})’/‘:‘u!(‘—u:blﬁbﬂ r:"lg e f-’m_ ((79Y78 O O O O .
The SI unit of pressure is Pascal (Pa) but it
is mostly represented in atm.1 atm= . .
11. St SatmInkd 1 c/Q,L(Pa) J(‘g-éf'is-lf(fb) 2 101.325 Pa {101,325 kPa 101325 kPa [1,01325x10°kPa O O O O -
‘ ?‘a/.ll.ﬁq./ann.]-g_t'lgyf )
Choose the chemical specie from the [ |
following options that can have the structure
given below: - .
12. 0 F Ci S O O O O
mﬁ?oﬂ/{d:oﬁl/&ﬁd“/gl?lfaiégdl Lol .
o
——1SA-11 2308-1081 — -
SUPPLEMENTARY TABLE
Fomche [ 1] 2 (38 5|67 8|9 [0 || 2 |B|8|5]|6]#7 |B|8]0 | |
Symbol. H{He |Li|B|B|C|N|O|F |Ne|Na|Mg|A|Si|P|S| O |A]K,|C
Mass No 1 | 4 |79 |11 |43 |44 | 16|49 |20 | 23| 24 |27 |28 |31 |3 [355] 40| 39 | 40 [ ]
|
N
m
ROLL NUMBER n
u
|
|
n
u
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CHEMISTRY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. All parts carry equal marks. (11 x3=33)
(i) Differentiate between a compound and a mixture. Give examples of each.
(i) Chlorine has two isotopes ( CI-35 and CI-37 ). Draw the complete structure of each isotope showing

the number of protons, neutrons and electrons.
(iii) Briefly explain saturated, unsaturated and supersaturated solutions.
(iv) Differentiate between oxidation and reduction. (Give at least three comparison points for each.)
(v) What will be the molarity of the following solutions having:

(a) 1 mole of H,SO, per dm® (b) 12.1 moles of HCI per dm’ (c) 18 moles of NaOH per dm’

(vi) Write the valence shell electronic configuration of the following elements.

(a) Ne (b) o (c) Na
(vii) Choose the element whose atoms have greater ionization energy in each of the following pairs:
(a) Lior Na (b) BorC (c) ForCl

(viii)  State Charles’s law. Derive its mathematical expression.

’ (ix) Briefly explain the chemical bonding in methane ( CH, ). Also draw electron dot and cross structure for

methane.
(x) Is the given reaction possible? JuStify the answer as well-
Fyy +MgBry ) —> MgF, ., + Bry,,
(xi) Identify the oxidizing and reducing agents in the following reaction. Also show oxidation number of each

atom. WO, +3H, > W+3H,0

(xii) What is corrosion? Enlist the methods used to prevent corrosion.

(xiii)  Use electron dot and cross structures to write the equation for the formation of ionic bond between
Mg and O.

(xiv)  In each of the following pairs, choose which oxide is more basic? Give reason.
(a) Li,0 or Na,0 (b) MgO or ALO,

(xv) 'F ind the number of valence electrons in the members of following groups:
(a) I-A (b) V-A (c) VII-A

SECTION — C (Marks 20)

Note: ~ Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3 a. What are allotropes? Discuss the allotropic forms of Carbon and Phosphorus. Draw their structures also.

b. Calculate the number of atoms/molecules present in each of the following samples:

(i) 2.5 moles of carbon dioxide (CO,) (i) 0.01 moles of acetic acid (CH,COOH)
(iii) 23 g of sodium (Na) (iv) 5g of hydrogen (H) atoms
Q.4 a Explain the Rutherford’s model for the atomic structure. Discuss only the experiment and conclusions.

b. Represent the formation of cations for the following metals along with discussing the change in

electronic configuration in them after forming cations. (i) Mg (ii) Al
Q5 a. Discuss the manufacturing of sodium metal from fused sodium chloride in Down’s cell. Show reactions
occurring at electrodes and draw diagram also.

b. The Chemistry saying “like dissolves like” is a guiding rule when considering the solubility of a substance.
Discuss the molecular basis of solubility of methanol (CH,OH) and salt (NaCl) in water. Also draw
diagrams. ' :

— 1SA-Il 2308—
SUPPLEMENTARY TABLE
Atomic No 1 2 {34 s e 7]8]9o 1w {iz2]wB3]ua]isfie] 17 ]18]19]20
Symbol H |He |Li|Be| B |C|N/|O/|F |[Ne|Na|Mg | Al |Si|P ]| S| Cl|A | K]|Ca
Mass No 1 4 |79 11214 ]16]19] 20 |23 | 24 |27} 28/|311{32]|355]40]39] 40
MY, =MV,
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(11x3 = 33) i Lo (02 B eir Lazi( M)l B et gisnit A1y

| DS A LSS GP AL e 5 (S S (i
NS AT ,‘?n,,;u;;g‘umu:m,,lufu&w‘(&,i/f etn ( C1=37s1 C1-35) ATl ¥ | (ii)
S e B PN | IF st i e st i s i i s (iii)
(Sl 1L L oim) - SOvSp S homfa N (iv)
-y ¥ H,S0, Ut dm’ i () SREIAPIAN I (v)

Un/y 18C NaOH ) dm® L @) Unlr121L HCL e dm* L1 (Q)
NN B AN ANI T (vi)

Na & (0] -— Ne i
e Qoml i GNP AT AL S S S e Usdn itun L P8 (vii)

FICl % BLC - Li{Na -
St OIS F O A e (viii)
S estu S B8 gj‘k g S Bl n L (CH, )u..‘;‘: (ix)
Foggy + MeBryyy = MeFy + By LS et oS gt o JOdLdotnlf (x)
WO, +3H, — W +3H,0 T FaITe g f st et reducing) B g s 53T Ut SGni T (xi)
Lo p I Lo gin St N(Comosionuin (xii)
I8 S S i S S L T L 0.0 Mg (xiii)
SIS 18 e Ll IASTU Ut L 2 Uit (xiv)

ALO,L MgO (L) Na,0 |\ Li,0(J)
VIKA (@) VA (&) A () I AL g L L St (xv)

(201-("&)(’?..)
(2x10=20) (1R Lot gES Jrne s

LS L - SR 2 a6 S K B E sl Fos 2 Ay
-q/r:l’”)lﬁtf))gt/)’tD;Z)"u:.:al.r(///‘l?a,t&/@» —

J70.01L (CH,COOH) kbt (i) Ir25L(CO) STk ©
sglust APy, Gv) 23g L (Na)fsy (i)

S NLC LTl F D688 B d 11 Sl Bl Lasl [ A
SIS E i T S SIS L LT VAL 2 u0i s -~

Al G Mg ®
N el AN P Lis sy s 1y S S Ko ot e 2B Esv i U Ut YA
L 1Sl
_‘adftwj..{n“wém,gd’u:;/u_{ug JG}’..Q”.@L:,(a.l_f.{;qf)?{d/jéd’(ﬁ:tﬂ_,e -—
L e sz g Lo 82 QLS (NaCl) st (CHLOH) J952
— 1SA-Il 2308 —
SUPPLEMENTARY TABLE

Atomic No 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
Symbol H He | Li | Be B C N (8] F Ne Na Mg Al Si P S Cl Ar K Ca
Mass No 1 4 7 9 11 12 14 16 19 20 23 24 27 28 31 32 355 40 39 40

MYV, =MV,
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S LS e L, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| | Question Jir A B c D AlB]c] o]
1 = .
If ‘6 =0 then value of a is: {
1, ¢ ' — 1 -18 18 O O O O
J. T s Y '8
“on a 4.6 al=
" If 4,6eR then <4x6¢€R is the
7 property w.r.t multiplication. Associative |Commutative |Closure Dis}ributive
< ket 4,6 R —4x6€ R Nl il Ji e O O O O
3. log8xlog,125= 5 125 3 8 O O O O
a* +ab+b* is the factor of: s R 2 2
* e " wraey| @8 @ @ |O O O O
Factors of x* —=11x—42 are:
5. s et ¥ 1lr—42 (r=14)(x+3) [{x+14)(x-3) 1(-14)-3) (644043 T O O O O
6 a_ 1 a a 1 1 O O O O
" 9a*-b® 3a-b 3a-b 3a+b 3a—b 3a+b
HCF of x* =5x+6 and x* -x—-6is:
. - 2 3 -2 .
7 “ Ak X —x =6 x* ~5x+6 x-3 X ¥ ¥ O O O O
The solution set of |x +2|=~8 is:
. -10 10 6
; DS WRIN (L B (L B [ () O O O O
If (x+1,y-1)=(0,0) then (x,y) is:
. 1,-1 -1,1) -1,-1 L1
N [ I [ DI (G ) O O O O
The point (7,~5) lies in quadrant: | ) I
10. . v
A2 (7,-5) & o O O O
‘ Page 1of2 |
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| | Question Jir A B c D B | c| oD n
El;ews;aluiewoifs | ‘m' in the equation \ 5 .
e 3'm e 3x=5y=-10 5 3 ? N . © O 0O N
The value of 'x' in given figure is: .
A
x—21 o
12 105° 250 96° 126° 54° 84° o O o =N
D C |
el x BPTS |
Measure of two sides of a triangle are 10 |
and 14. Which can be its third side?
B g 2rpieramodiadtemlet g |4 20 24 2 O O O nm
sy
Which of the 'foIIowi:g are the sides of a .
14, Mioht ang‘edgzzz?ﬁgwwa s, | 123 2,34 345 456 O O O m
A qluadrilateral having each angle of 90° is .
: r i
1. called el it P: ;ljlllzl]ofram Rj;fngle R::gmbus T:;ngle O | O O -
-
——1SA-Il 2309-1091 —— .
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MATHEMATICS SSC-
(Science Group) |
Time allowed: 2:40 Hours Total Marks Sections B and C: 60
NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.4

Q.5

Q.6

SECTION — B (Marks 36)

Attempt any NINE parts. All parts carry equal marks. (9x4=36)
51 01
(i) If 4= ,B= then:
2 2 4 0
a) Find (4B)' b) Find B' 4' c) Is (A4B) equaltoB'A'?

(i) If z=—— then:

—1

a) . Write z in a+bi form b) Calculate z  ¢) Show that (z—E)2 is real.
C
3
N ) 1 3 ! 1 8
(iii) Simplify (125)* x(25)2 +(16)7 x(64)3 + 1 4
(49) 2
2
(iv) Solve with the help of logarithm m A D\ 9 B
(4.567) Q.2 (v)
(v) Find the length of side 4D in the given figure. If mAC =4cm,mBC =8cm and mDB =9cm "
(vi)  In ALMN,MO LLN and LM = MN . Prove that LO=ON and ZLMO=/NMO.
(vii)  If x=3-+8 then find
a) ! b) -1 c) x* +—12—
X X X
(viii)  Factorize (x—>5)(x—7)(x+6)(x+4)—504 0_'
(ix)  Use factor theorem to factorize x* +2x* —5x—6 Q.2 (vi)
(%) Find the HCF of the following polynomials by division method a* +3a® +2a*> +3a+1 , &' +4a* +4a+1
. . 6x*+9x  4x+6
Xi Simpl +
o) i K +8x+15 x*-9 .
(xii) Prove that any point on the bisector of angle is equidistant from its arms.
(xiii)  If 2x—-y-3=0 then: Make a table of any four values satisfying given equation.
(xiv)  Solve and check for extraneous solution if any 32x+5 =3f4x—11
SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. _ (3x8=24)

The length of a park is 3m more than its width and perimeter of the park is 180m. Find the dimensions of the park
by matrices.

Prove that if the square of one side of a triangle is equal to the sum of squares of other two sides, then the
triangle is right angled triangle.

Prove that the line segment joining the mid points of two sides of a triangle, is parallel to the third side and is
equal to one half of its length.

A quadrilateral has points A4(9,3), B(-7,7),C(-3,-7),D(5,-5) then:

a) Find the mid points of sides
b) Verify that figure so formed by joining mid points is a parallelogram

Given that mAB = 8cm,mBC = 6.4cm,m/B =90° then:

(a) Construct the A4BC b) Draw the angle bisectors of three angles
(c) Verify their concurrency. Also write steps of construction.
— 1SA-ll 2309 —
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(h;f,fu:{tf)
60'(//3!(»)‘47/}0?
_J/J’uﬂlr(03)u’ c,dfc,u‘rry.ﬁ;l]l(og)/ir»y J:/delid/d/Wa.o,«fk..,tliﬁumrﬁrrulr».ﬂ ad
il sl Sl 2 LT
(9x4 = 36) .u,u.u/&mrﬁ-éd’ A21(09) b ks s it A Uiy
. [51 01 .
:iA=[ ],B=[ }ﬁ (i)
2 2 40
LB A ei(4BY YV (@) S B (D) S 4By ()
Jn z=——f (ii)
1-i b
B (2f SIS @ ez DufsesS abi £2 (G0
C (125) «(25)% +(16)% x(64) + —— Y (iii)
o (49)?
4 W ..J”//J’(__up(zfﬂ (IV)
(4.567)°
A D\ 9 B mDB=9cm s mAC =4cm,mBC =8cm ﬁ-Q/r)"”(led/E u:féfd, (v)
Q2N o= /WD w1 TO=0N Sy fedtin TH =MV 4 WOLIN S LTS (V)
S in x=3-B S (vii)
2it @ LN B )
X X X
5 (x=5)(x =T)(x +6)(x +4)—504 Ul8E (viii)
L o) N x> +2x* ~5x-6 -Jﬁ/d/’c.ud/dfu? (ix)
Q.2 (vi) a' +3a° +2a* +3a+1 |, & +4a’ +4a+1 _q/r)’* “Kiblaf:ﬂ,z_‘»@%}@/) (x)
6x% +9x +4)c+6 -L[//‘“; (Xi)

x*+8x+15 x*-9
e b oWl AL B gt LS (i)
Lhreburd s $bne S J b Satlodn 2x-y-3=0/1  (xii)
P75 = Yax—11 -y /ey SO DS 13y S S atlniétn  (XiV)
(24 )y o
(3x8 = 24) (a1 Ludr 0 ESL I <35
U esaSuds B mBUS -e 2 180 616 s eosk i 2 3 Qg S SHE S L Ay
U/ qt‘-g.&nwdn)l;i Fedsdng sl o Lo, EuPISEMaiUne 78 800 & L Lo S Ay
-:"_t‘n.—bﬂjc;‘jlgﬁélr)»ld)l?’ééb e A i b 6 L win L et 104 iy
Jus A©,3), B(=7,7),C(=3,-7), D(5,-5) b6 L S5kl LAy

e LGP LIS e e 2 LS ST (L) o N Lo ()
75 mAB =8cm,mBC = 6.4cm,mZB=90° N1 21y
-wff St upiuy (L) St AdBC & (L)
_uf”d i d J’-g sy I8, LaBAly @)
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SECTION - A (Marks 12)
Time allowed: 15 Minutes ®©0 00 ©0 00000
Section = A Is compulsory. All parts of this @ @ @ @ @ @ @ @ @ @ @
section are to be answered on this page and
handed over to the Centre Superintendent. ® @ G® G ® & 6 & ® ® 6
Deleting/overwriting is not aliowed. :
Do not use lead pencil.
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Answer Sheet No.
Ll LS L e L)y, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: | Candidate Sign.
| Question Jir A B c D A I B I c | D |
The career most associated with the study of
plants grown for beautification is: . Agriculture  {Botany J Forestry Horticulure
1. el wr e b Lu»{Lbé‘.lgLE'l'ZJ_LG/ﬂf e (}',)f dﬂn’ .,.“‘u‘i O O O O
- A
Maheen has learned that the brain, spinal
cord and peripheral nerves work together. An organ
5. She combined all parts to form: A cell A tissue |An organ system O O O O
Sl LS ¥ A Lnip s P enr oS Lt |k o A 1T S
Al Y Sudure ni
What part of an experiment contains the data
3, tables and graphs? o Analysis Conclusion HyE)othesis Result O O O O
Se b (P mHes ovo¥e £l F s Nl s
Showing Use one
A good classification system does all of the{Showing evolutionary |Creating name for an
following EXCEPT: relationship  {trends confusion organism -
4, v iz .
-‘gt‘/\,«/éa;Zy/)L!r(b’/c/’:&“m{h,g q.l:‘//;lsf.:,l‘iw /;U":(:-l?li/dlizl ‘Lt‘ﬁ,ﬁdd{l ,{I.AL/I;QVQ O O O O
_ et/ et St
Resolution of Electron Microscope can be
5, Upto: 0.2um 0.2cm 0.2um 0.2mm O O O O
.‘adtmf ozl v;‘:f’ Y.
_ Which structure is the site of protein .
6.. Synthesis? . _ Lysosome Mitochondria {Nucleus Ribosomes O O O O
Se Bk eSS el L Sy s
Sister
chromatids of Non-sister
the same Two different |chromatids of { Two daughter
7. Crossing-over occurs between: chromosome |bivalents bivalent nuclei O O O O
-%5”0?/’L i S Lr:’/u”d‘.{l _‘"J;:JI‘,JB;; utﬁ.“i_«_:ét.{i (j?/zf/‘l}u
Sy Sy
3. Uncontrolled cell division is known as: Cancer Cytgklnesls MIt?SIS Growth O O O O
- —etilf S Sk | Wl 14% oI .
Activation . Activation
What happens to an enzyme when it is|energy is !;t:)oefo::es Isthlgs:s its energy is
9 denatured? lowered 9 P raised O O O O
S bl perg bl AL L P | Qenf GHRM i, |eledesndl | bard i
et
Page 1 of 2 |




| Question i A B c D AlB]c| ]
Electron
Which of these uses oxygen as the final transport
10. acceptor? Calvin cycle {chain Glycolysis Krebs cycle O O O O
9‘4rfdw:4/)£‘{-(u"ufj-ffg¢u:un Lo ALYy R4 FnS
In which part of the alimentary canal is water
11, absorbed? Caecum Colon Rectum Villi O O O
S bro it 2 LIS o £ sy f"f/ dus O
white blood Plasma —
cells — Red blood water, Platelets —
infection cells—blood {nutrients and | blood
12. Which of these associations is incorrect? | fighting clotting wastes clotting O O O O
te s et | —Kgeloi | =Kt Lot Ity JRed—t2y?
toedP | ks Y
—18A-112310 —
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Time allowed: 2:45 Hours

BIOLOGY SSC-l

Total Marks Sections Band C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.4

SECTION — B (Marks 33)

Attempt any ELEVEN parts. All parts carry equal marks. , (11 x 3 =33)

(i)
(ii)
(i)

(iv)

v)
(vi)

(vii)
(viii)
(ix)
x)

(i)

(xif)

(xiii)
(xiv)

(xv)

L

T » T P

How is a Volvox colony different from a Mustard Plant?

What is a hypothesis? State the characteristics of a good hypothesis.

What advantage is there for two scientists on opposite sides of the world to use a single name for a
particular organism?

Suppose a new single celled organism has been discovered. This organism has a nucleus, a giant
chloroplast and mitochondria. In what kingdom would this organism be placed? Write reasons as well.
What happens to an animal cell in pure water? Why does a plant cell act different?

Complete the table:

Sr. | Tissue Location Function
| 1. Cuboidal epithelium
12 Nervous Tissues

3. Meristematic Tissues

Briefly describe the three phases of interphase.‘

Compare cytokinesis in plant cells and animal celis.

.No.2 (xii,
List three ways used by enzymes to lower the activation energy. Q-No.Z (xii)

Discuss “Lock and Key Model” of enzyme action. (a)

€)

9

Light
water, sugar, carbon dioxide, oxygen, ATP, ADP+P, NADPH reaction

Dark
reaction

and NADP+,

{b) (d) !

What is fermentation? Mention its importance in daily life. //[5\-\
Label any six parts of the given diagram using these labels;
How can Myocardial infarction be treated? \D/

Why is Rh incompatibility important in blood fransfusions?

Complete the following table:

Sr. Obtained from Used in Plant for
Carbon dioxide Atmosphere, through stomata Making food
Nitrogen :
Magnesium
Water

Bl Rl I

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)

Trace the course of blood from the right ventricle to right atrium (Draw a flow chart)-
Describe any two organelles that are found in animal cell but not in plant cell.

What would happen to a piece of steak, containing only protein as it passes through alimentary canal?
Explain the steps of Calvin Cycle. '

Explain the mechanism of food translocation by the theory of Pressure Flow Mechanism.
Describe the problems of Protein Energy Malnutrition (PEM).

— 1SA-11 2310 —
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S lgi.nf stSlealizl

B3~ S e

(11x3 = 33)
?:‘:_,8)1._.33 4‘.{ :.t_:géur /G,’K f Jf»’b

G estor? S Bt YU

St AL Skl L Ase Lo U L use i Sl

NSNS IV OV B T DR P 14 W ::'..{lutll,clgm_‘gmdg»rf'ﬁjyf"g.gq/ S
UL S e\t

S ULl A S Lumisebalf Ik Lusdet QL

SIS

AW Y
i 1
R, 2
By e 3

(e

(a)

Light
reaction

(c)

|

Dark
reaction

LS BE LS
-q/.;JHKu’:'éK:‘:’v&)fﬁuuilgmkéu»g
Sher dSURILE L SEIBHREIL 1

_q/&4J5tJjglJu£u5§Iftyzl

Gl feaf 1. £inpissSe u’““/

(25 DU/ H o nl SIS ooty nd rlf’ﬁéf s
NADP+»|NADPHfADP+P‘ATw7~fT B 7] Sner kS }‘&g
S D Lok I KA

(o iRt fus

NIRRT

#7
AT ek 1
Gt

o

(e)
=

(b) ! (d) |

20xii) ~—F iy

.ﬂ/}bU/
:‘i_jiéc,{f’ o

Je1 L ung
L LS

2
3
4

20~ f)fr_»’
(a2 Loty 0 ES Drneidh)
(A l'z._wlg);)q/ S Lt /.f(”-/:l Foe f Fos fis
AR Lo F i\t Loy feslond B iTna 3

(2x10=20)

B Lu)srrl?.w." A 2 Ean (Nl S e L3 osirit A 1y

(i)
(ii)
(iii)
(iv)

(v)
(vi)

(vii)
(viii)
(ix)
(x)
(xi)
(xii)

(xiii)
(xiv)

(xv)

A

i’
3

Clf S s e S8 A g bnhsg i p T B Ay

e S L gk
-J“/;')Lnd/r/:Q}Gﬂééj.d:gkﬂ!uﬂ/i‘ﬂu»z
SIS LS B Py
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o o000 000000
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o 'SECTION — A (Marks 12)
| Time allowed: 15 Minutes ® 0060 ® 0606600600
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, ~ Answer Sheet No.
| :
- I fmeni LS L e Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: ~ Candidate Sign.
.| | Question Jir A B c D AlB|c]opo]
. in which generation of computers were the
microprocessors used for the first time? First Second Third Fourth
- R s BLindd i St | S0 5 g O O O O
. Which of the following option in word is used
to “End” the page and shift the control to the Paragraph Document
- new (next) page? Section Break | Break Page Break {Break
) 2, /,f&:(controlé/rf"il(j"ﬁf(ful(u:wordc_ufu! b{/uﬁ? -_f/,..il/l,& ..—_f/f ...g/,:—‘{';(l} O O O O
| tednderd LS
n
B Amplification is the solution of: |Cross talk Distortion Atltenuation |Timeliness
7 3. <Y (Amplification)?“w Lt oA i id’ O O O O
N
i Money
- drawing
Which of the following is full duplexjConversation jthrough ATM {TV Sending data
| ¢+ transmissionmode? on mobiles | machine transmission |to printer O O O O
tesr B ule vt Sy 2o ATM| 10 =AYy
| » Vg
. Which of the following operating system is
| used to control the traffic signals? Time sharing |Real Time Multi-User Single User
N 3. Se b ST IE ) B Tuf e | ER e 2 gl TN O O O O
| Which program is used to make Backup of Language Utility Operating
data? Device Driver {Processor Program system
m & St Sy o Ul b LS | s g3 R oy BT o O O O
|
Key logger software is an example of: Virus Worm Hacker Cracker
. 7. ?‘gdhfgf Ja2il (key ]ogger)f IJJ J s (4 y s O O O O
Which of the following networks is MOST{Client server |Peer to peer {Point-to-point [Metropolitan
. suitable for small number of users? network network network Area network
8, S urehlepr S L LA de b | Sainpesll | Snseraire  |ecetipiesy oo pi O O O O
n | S I -
I .
Page 1 of 2 |
n




O
n

| |Question Jir A B c D A | B l c I D l
Which command is used to limit the entities | Data Conditional
in a cell? validation formatting Functions Formula
_ 9. 8ndb”lfvtﬂf s g’. La_/ nis / entities )Xruﬁ'(cell)tk w)"‘{bw ..Cﬁ.’/bﬁ,t( uia Sy O O O O
fe
_ ; NN . .
10. Which interface is based on textual mput. GUI CLl Menu Driven |Window O O O O
fe (3" gtextual input,? }v’llruf )
Local Area Metropolitan |Wide Area Personal
Which type of network is used in Cable TV? | Network Area Network | Network Area Network
1. Se b1 S ud| SN BV L WEWE- PR AV 7 AN O O O O
Jn
Wireless mouse is connected with Computer
by unguided technology. Bluetooth Radio wave |Infra-red Microwave
12. blgg-@"'ivﬁ/xf,{édL(f.)b?unguidedtffu"itdgfb P SYIYY L P /’gju/?t O O O O
P
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Time allowed: 2:45 Hours

COMPUTER SCIENCE SSC-I

M

Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

pqr AL

SECTION ~ B (Marks 27)

Attempt any NINE parts. All parts carry equal marks.

(i)
(ii)
(i)
(iv)
W)
(vi)
(vil)
(viii)

(ix) .

(x)
(xi)
(i)
(xii)

List the names of any three “volatile memories”.

(9x3=27)

What is the word processor? Why word has replaced type writer? Give two reasons.

Compare synchronous and asynchronous transmissions on basis of working, time interval and examples.

Write the effects of following malware: Worm, Virus, Spyware.

Wiite the uses of following icons: Recycle Bin, Computer Icon, Folder Icon.
What is meant by ‘Data rate’ and ‘Baud rate’? Also write their relationship.
Why are computer networks needed? Give three reasons.

Differentiate between software piracy and information privacy.

Write three uses of E-commerce in daily life.

Enlist any three authentication methods.

What are the disadvantage of using satellite as transmission medium? (any three)

Write any three uses of vital sign monitoring computer in hospital?

How is fiber optics more reliable than other guided media? Give three reasons.

SECTION — C (Marks 16

Attempt any TWO questions. All questions carry equal marks.

Write short notes on any two GUI operating systems.

Write four advantages of GU! operating system.

How does modem work? Explain. Also draw diagram.

Compare analog and digital signals on basis of:

(i) Signal type (ii) Diagram iii) Examples and  (iv)
Wrrite detailed note on LAN.

Write any four characteristics of WAN.

— 15A-l 2311 —

Q No.2 (v)
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43{/1}!(»,."-‘47/1';\)% 2{2345153:
L..;f-g,[/(g)’am/(02)»:...(3;(:.@'(/.‘47.?.;!2’(09):72:r».ﬁ..u_’)/,‘,‘éb/(}’iéftfycpj?:«‘gizﬁ&ﬂlfer‘ulr».ﬁ o
-u/'jlgi..ﬂgbul_ﬁ'bayﬁ

(27/-5’1 j)f”._#’
(9x3 = 27) -w/.l/./'éu)lrrl?.ui’d A a2 Zaz(09) S s pisrt A Iy

- /. £ /? rtL(Volatile memory)Z/#% J/l‘Juuf 11 J:( (i)

-, l?.ap?”:?‘adLu/: & U (typewriter) /"’l/.,:{’lfL(word)ﬁu?‘Lg(word processor) /% 14311 (ii)

- S 2ty e U9Ei(time interval)Js /-l(” Br,’( Ll (u“") I/ Asynchronous.s/ Synchronous v (iit)
(Spyware)ﬁﬁéb‘(Wonn)(m(virus)d ) :u:‘."ﬁ =l 51 C Malware s 450 (iv)

-(Folder Icon)ugﬂ 745 {Computer Icon) &7 /:_:.,.j (Recycle Bin)gx & iy y, Lf th‘l((lcon)ulél el (v)

-J/ 1/ A ul" LK Uit (Baud Rate)s St s!(Data Rate)d b3 (vi)

-ufj YW It ?:".d‘/,:u:[ Yot d/ (Computer network) s .b,,r’/‘:;r,.{ (vii)

(V) 2503 I o

-d-‘fﬂ 3, U~ (Information privacy)(f.ff i/,.,ﬁ J51s1(Software piracy)ﬁfg/:’:b‘:’v (viii)

P il e 3 sy s L(B-Commercedy K81 (iX)

- /. 4 /" (tL(Autﬁentication method) 47 u&’:&"} Tuf r_é/ (X)

-‘j../ 7 e bl :_Jf L (Satellite Transmission)ui:"J [/l (xi)

-J.J .:«Ulr"»’luf c‘-(jl( L/‘_g:..I (Vital sign monitoring)sf g qu’ ,bu.'.' JC’;’: (xii)

-u.‘f’i .:«Q:?;(f ?c‘_;F‘lJGuL)u{ «(guided media)l i*5 ¥€<»(Fiber optics)L/g A6 (xiii)

(16 Sy
(2x8=16) (i Ludr 0 S Jrne S
ey B Tcunads Ay
S F LT RTGUL e
LS i g S et S Modem) 3 I Al
S oK digital signaD JF SFLm(analog signal) JE (VLA
G aoke G s G AIEUE O
N (AN e AUy
St s A WAN
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L Answer Sheet No.
||
W S mendb LML sz v Ly Invigilator Sign.
i Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| | Question . A | B . € | D AlBs]c]| o]
] § s i |
@ Jabar Bin Hayyan is considered as father of:éOptics iMathematics iChemistry iPhysics O O
' T N A TRy N L el et

Global Change Impact Studies Center.Dr. Abdus 1Dr. Ashfaq iDr. Abdul 'Dr. Munir
(GCISC) was established by: ‘Salam i Ahmad 'Qadeer Khan :Ahmad Khan

=

ol

T
%

W5 i o/ (GeIsc) et Laa s Lk 4ol (W 1 10e i3 B LR Y Vgl
- 3 : i i s
MM The Science is divided into main|
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Time allowed: 2:40 Hours

ESSENTIALS OF HOME ECONOMICS SSC-I

29

Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2  Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines.

(i)
(i)
(if)
(iv)
(v)

(vi) | What diseases are caused in children due to protein deficiency?
(vii) What are the benefits of microwave oven?
(viii) Write the names of different areas of development.
(ix) What is a daycare centre? Enlist the facilitie; available in it.
(x) Describe the nutritional importance of fruité and vegetables.‘
(xi) Discuss the role of home-economics and practice of ieadershib qualities.
" (xii) Identify the factors affecting growth and development.
(xiii) What are the types of parenting according to their effect.on children?
(xiv) ~ Which are the best sources to obtain Vitamin—D?
(xv)  Wirite Sasic principles to present food.
(xvi)  Why does the feéling of Jéalousy develop in a child?
(xvii) What is meant by malnutrition? Write the bad effects of malnutrition.
(xviiiy  What is junk food? Give examples.
SECTION; C (Marks 24)
Note: Attempt any THREE questions. All ques.tions carry equal marks.

Q.3 Differentiate betwéen balanced and unbalanced diet.

SECTION — B (Marks 36)

Discuss an alert consumer and his/her role.
Write down the names of basic food groups.
Differentiate between 'growth’ and ‘development’.
Write three reasons of behavioral problems.

What is meant by physical growth? Give example.

Q.4  Write the methods to solve the behavioural problems in children.

Q.5  What basic role does food play in our body? Write in detail.

Q.6  What s the role of teacher in child development?
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FOOD AND NUTRITION SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION ~ B (Marks 33)
Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3 =33)

() Briefly explain about food.

(i) What is the effect of weight gain/loss in children?

(iii) Write functions of food.

(iv) What is the difference between macronutrients and micronutrients? Write with example.
(v) Write down functions of fats in the body.

(vi) Write down symptoms of deficiency disease of vitamin B-1.

(vii) Write function of todine in the body.

(vii)  What is BMR (Basal Metabolic Rate)?

(ix) What are six basic food groups?

(x) How is constipation treated?

(xi) Write down the tips for menu planning.

(xii) What is the difference between "Cart French Service” and “Banquet French Service”?
(xii) ~ How is food stored? Give examples.

{xiv)  Plan a menu for Eid party.

(xv) Write points on family style meal service.

SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)

Q.3  Wirite Table manners and etiquettes.
Q.4 Write a detailed note on water considering following:
(a) Functions in body (b) Causes of deficiency  (c) Food sources
Q.5 What points are important for pianning menu for: a) Old age people b) Teenagers?
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CLOTHING AND TEXTILE SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33) :
Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 = 33)

(i) What kind of clothes should be worn in everyday use?
(ii) How can dress be made prominent? '

(iii) Write down the types of colours. _

(iv) Why is it important to consider the weather when we are choosing clothes?
(v) Explain the nature of colours.

(vi) What kind of clothes should a shy personality wear?
(vii) How many types of sewing machine are there?

(viiiy  Write down the method to measure correctly.

(ix) How are designs made in weaving?

(x) How should the sewing equipment be protected?
(xi) What is the identity of the strength of thread?

(xii) How many types of sewing are there?

(xiii)  What is meant by pinking?

(xiv)  What is meant by overcasting?

(xv)  Write a short note on vertical lines.

SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3  What do the sewing equipment consist of? Write about their protection.
Q.4 Whyis it important to keep the principle of art in mind when choosing the dress? Write in detail.
Q.5 Why is drafting necessary? Write the method of drafting in detail.
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Which is the largest country according toi
population? 1Bangladesh
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Time allowed: 2:40 Hours

CIVICS SSC-I

%h

Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 36)
Q.2  Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)
(i) How did F.J. Gould define Civics?
(i) Briefly explain Judiciary.
iii) How did Hob House define “Rights"?
(iv) Describe “Nation” according to Lord Bryce. -
(v) What is meant by Sovereignty?
(vi) Write down the names of any three political rights of a citizen.
(vii) What is the modern concept of citizen?
(viii) = What is the difference between ‘civics’ and ‘history’?
(ix) Describe the role of computer in Mass Media.
(x) What are the legal rights?
(xi) Write a short note on “Democracy”.
(xii)  What is meant by Government?
(xiii)  Briefty explain Society.
(xiv)  What is community? How many kinds of community are there?
(xv)  Write a short note on the importance of family.
(xvi)  Explain the concept of state according to “Aristotle”.
(xvii)  What terminology is used for the tax imposed on Non-Muslims in an Islamic state?
(xviii) ~ Write down the role of education in good citizenship. .
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8=24)
Q.3 ° Explain the importance of “Civics” in detail.
Q.4  Briefly explain Legislature. What are the functions of legislature?
Q.5 Discuss the qualities of a good citizen.
Q.6

What are the rights of citizens in an Islamic state? Discuss.
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GENERAL METHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

Q.2

Note:
Q.3

Q.4
Q.5

Q.6
Q.7

SECTION — B (Marks 36)

Attempt any NINE parts. All parts carry equal marks. (9 x 4 = 36)

() A carpenter costs Rs.720 to make a table, He sells it for Rs.920. What is the percentage of profit he
earns?

(i) A manager plans to produce 100 bicycles with the help of 25 persons working 4 hours daily. How many

bicycles can be made by 40 persons if they work 3 hours daily?

(i) The inherited property amounting to Rs.20,00,000 is left by a deceased. He left behind a widow and two
sons. Workout the share of each.

(iv) A trader marks his goods in such a way that after allowing a discount of 10% he gains 15%. If an article
costs him Rs.720/-. What is its marked price?

v Jamila and Alia enter into partnership and their shares are in ratio of %% . After 4 months, Jamila

withdraws half of her capital and after 8 months more, a profit of Rs.500 is divided. What is Jamila’s
share of profit?

(vi) Pervaiz buys a window air conditioner at Rs.900. He pays 20% deposit and the outstanding balance with
 markup in 48 months. Markup on the balance is charged at 10%. Find:

a) The cost of his monthly installments  b) The amount he saves by paying cash
(vii) Find out the compound mark up on Rs.250,000 for one year @ 14% compounded annually.

(vii)  The total taxable income of two persons is Rs.250,000/- and 310,000/ respectively. Workout the income
tax for each of them @ 4.5%. '

=3
3 )2 2
(ix) Simplify["_2 J _(ﬁ’gﬁj
b—;c ac

16 25 81
X Prove that 7log(—)+5log(~=)+3log(—) = log2
) °g(15) og(24) og(so) og

(xi)  Insert three A.Ms between 6 and -6. _
(xii) If 4={2,3,5,7,9},B={1,3,5,7} and C={2,3,4,5,6} then verify that (4nB)NC = AN(BNC). -

(xii) If U={4,6,8} and ¥ ={3,5} then

a) Find UxV b) Write binary relation R= {(x, WixeU,yeVAa(x+y)> 9}

c) Find domain and range of R.
(xiv)  Make a table of 6 pairs of values for y = x+7. (Graph is NOT required)

SECTION — C (Marks 24) _
Attempt any THREE questions. All questions carry equal marks. : (3 x 8=24)
Mr. Rehman bought a vehicle worth Rs.750,000. He got it insured @ 3.5% for 5 years. How much he paid in total
for covering the risks, if he had got a claim.of damages worth Rs.100,000 during the period? Where depreciation
rate is 10%.

A bank gained Rs.8034 on its loan at 6% compound mark up in 2 years. What amount did the bank lend?
0.9876 x (16.42)

Evaluate the following by using logarithm: -
(4.567)°
If U={4,6,89,10}, 4={4,6}, B={6,8,9} then verify De Morgan's laws.

Find the arithmetic mean for the following distribution showing marks obtained by 50 students in mathematics in
the annual exam.

Marks 2024 25~29 30-34 35 -39 40 —-44 45 - 49 50 - 54

Frequency 1 4 8 11 16 9 2
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b—a'c ac
7log(%)+510g(%§—) +3 log(%) = log2 i /et (x)
bt U n L~ 616 (xi)
(ANB)YAC = AN(BAC) SZoetin 4={2,3,57,9},B={1,3,57) #C={23,4,56)/  (xi)
v={3,5 s U={4,68) /1  (xii)
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(W enf§ Ludlﬁ_é_ud;g&f’ (UL Ly = x4 (xiv)
@arA Sy e
(3x8=24) (s Loty 0-gES Jrk =09
3100000t 2w /1N ISP U P 3.5% & LIS ti$a? Ui aas150:0008% Lidehes > Ay
i 10% A0S St B ndinf if L Lasar B i S o b
W f sl ol oy L s8038L B fie AP LY ftl 6% - L2 Ay
0.9876x(1642) 61‘42)2 ES bt LIk E S Ty e
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E a1 TS Sus A/ S et SAP S0 rsgn 2T Ny
A4 | 20-24 25-29 30 - 34 35-30 | 40-44 | 45-49 | 50-54
o 1 4 8 11 15 9 2
—~— 1SA-11 2318 — '

E d 1 | [



. Version No. ROLL NUMBER
, 11191
|
N ©@ © © © © © © © ©® © ©
- L BN BNONN (OOIONONONONO)
ECONOMICS SSC-I ®@ @ @ @ @ @ @ @ @ @ 0O
| SECTION - A (Marks 15) ® 6 6 0 ® 0006006 0 0
o Time allowed: 20 Minutes
[ | Section - A is compulsory. All parts of this @ ®@ ® @ ®@ @@ @ @ ®©® ® &®
section are to be answered on this page and :
. handed over to the Centre Superintendent. @ @ @ @ @ @ @ @ @ @ @
Deleting/overwriting is not allowed.
Do not use lead pencil.
[ | i Sl S L1 LS pltS s P 6122 Lo Sy o ® ® 6 © ® ® ®©® 6 6 6
- RPN S P S O 0 00 O 0 0 0 © 0 O
-
®© © @ © ®© © © @ ®© ® @
||
i Answer Sheet No.
n
- ..u__’//__,fa/’bc/»&f%f&lj:{/:éé.fc_l/édlrﬂ Invigilator Sign. ‘
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
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Which of the following factors of production! i : ‘ : 4
- has zero mobility? iLand iLabour i Capital :Organization
?93:!)’64%:/(](,(&}(&;}kaan:}64;guf.') é/»/“ g,,L/ §(£L ; O O O O
- In which economic system all the resources! : ‘Mixed ilslamic :
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| SrLne Sl f Qi (B (B0 A B A (Wb L i © O O O
5 ﬁ i i
- Supply curve has _______ slope. éNe ative iPositive i'Zero §lnﬁnity |
3, 1Neg : d : O O O O
. e tbtxn ;h’i(y;bid) E.:J E/‘ E»/fll :
»n 5 a s | s
F Demand is function of: iMoney §lncome ;Price ESupply
f = K iy LT f=d tars : O AO O O
n | | s a | s
n § | i § |
i Reward for capital is: 'Wages 'Rent ' Profit !Interest :
| P o ,g : -y : O O O O
< BN Ry | 9] O Ly ' .
| | ' E |
. Increase in price of product results iné ;
in demand. iIncrease iDecrease 1Zero :No change
i b mfibifted e Joy tednf te Jonp dnf dx ©c o0 O O
L ’ i E : -
B ne- Depreciati 5 ; 5 5 5
‘ N.P= — Depreciation GNP Pl 1GDP NI ,
7. _— : . . H R A R 1
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| Question Jr A i B i c i D A | B | C | D
iPrice = iDemand = éDemand >
3. Equilibrium price is determined ther?: . iDemarjd isupply iPrlce-‘-.Supply iSupply O O O O
gq.dyzuﬁ"‘w{d)l?i&::»{ sz LA smd LA '
Which of the following is NOT an economic§
want? : 'Juice VAir :Computer Car H
9. . ' t t : :
ngoﬁlymb(_f/cuﬁaﬂbﬂi.ﬂ/" El.n' E/'_._. V'] ' O O O O
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was: istage istage stage istage '
11. : Vo Vo : '
¥ Jﬂ/l/»(ﬁzlé(fiid&b»:KL/O"J)(_N;I/@ :/»6’/ :w(d&f Y 3 O O O O O
L i E ! E
Definition of economics by Prof. RobbinsiNon material :Material 'Scarcity of  {Acquiring |
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12. 3 ! , : P : :
Yoo g it P el L A B AL s WLl o O O O
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13, characteristic to hav? value in a product? EUtiIity EScarcity ;supply i Transferability | O O O O
WL Lo e S e it | ol Lo L aans ) RN ;
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14, called: . ESavmg Elnvestment EConsumptlon EExpendlture 5 O O O O
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- ECONOMICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.4

Q.5

Q.6

SECTION - B (Marks 36)

Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12x3=36)
(i) Differentiate between public and private ownership of means of production.

(ii) Give characteristics of capitalism.

(iii) How did the tribal concept of occupatiohal division of labour emerge?

(iv) Why are wants competitive?

(V) Is there any difference beMeen value and price?

(vi) Briefly explain invesfmeni.

(vii) What is the difference between personal income and national income?

(vii)  What will be the effect of increase in income or change in consumer’s choice on law of demand?

(ix) With the help of following schedule draw a curve. Also mention which curve is this?
P 10 12 14

Q 8 7 6

(x) Briefly explain the factors affecting supply.

(xi) When price is below equilibrium price what problem will appear in market?
(xii) | What is meant by production in economics? Name factors of production.
(xiii)  What are responsibilities of an Entrepreneur?

(xiv)  What is wage? Explain briefly.

(xv) What are types of Economics wants? Discuss briefly.

(xvi)  Differentiate between goods and services.

(xvii)  How Alfred Marshal has defined ‘Economics'?

(xviii)  Why economic problem arises?

SECTION — C (Marks 24)

Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Discuss different concepts of National Income. Why it is important to measure Ni? Explain.
Explain Law of supply with the help of schedule and graph.
What is meant by evolution of economic life? Discuss its stages in detail.

What is the importance of ‘Land’ among factors of production? Give characteristics of land.

— 18A-11 2319 ——
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Time allowed: 2:40 Hours

EDUCATION SScC-l

hr-

Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2  Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines.

(i) Briefly write the general concept of education.
(ii) What did Imam Abu Hanifa (4£%) say about education?
(iii) Write brief introduction of psychology.
(iv) What is meant by infancy?
(v) What is meant by non-formal education?
(vi) Briefly describe individual differences.
(vii) Write down the levels of intellect.
(vii)  What is meant by the term “Development”?
(ix) What is the function of Punjab Education Foundation?
(x) Briefly describe learring.
(xi) Enlist any three factors that affect learning.
(xii) Write a short note on social development during Adolescence.
(xiii)  Which are three basic functions of Education?
(xiv)  What is meant by “society”?
(xv) Write any three steps to promote the relationship between home and school.
(xvi)  Write about the social development of a child in early-childhood.
(xvii)  Name the three basic needs of an individual.
(xviii) Which change is caused by the social change?
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks.

SECTION — B (Marks 36)

Describe in detail the prominent characteristics of Islamic concept of education.

How physical and intellect differences affect learning? Explain with examples.

Q.3
Q.4  Whatis meant by preservation and transfer of cultural heritage?
Q.5
Q.6

Enlist different institutes related to education. Write down their roles in detail as well.

(12x3 = 36)

(3x8=24)

(36 J‘/ )(’ 3 e

w2 s it s prdp e LAz 2B e s 0
S Wt AL ey (i) NIy I T
e e $ip 2 (V) S e
oo P i f (Vi) PPN PR E VNI
et e LSt (i) N el
gLl AR (0) te SRR b it
W, B0 fe by (xi) G It E eSS iy, (‘J
gl el (V) St od Pt L7
-u:"’g ASIf e §SL Lot F s nlJFm f
(S Lk E S (xvii) I U B Sl
te Fansd e ded o
Q4 SYfr s
(.77 &u;‘lr(l?-g}: SUirlf )

el e uWJ(Z"j/r"‘de
vﬁ;,;t/gc,dﬂj,waf“éi,»@@ _

g eolos S s R sian iy ,/"7 LA i3s3

IS S e I e P
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Answer Sheet No.
n
Iy e LIS L e L)1y InVigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
I:IQuestlon o, A | B | ¢ 1§ b AlBB]c][Dp]
il Whatis the average thickness of the crust? | 15 40km  |25-30km  {1020km  {20-30km | O 0 O O
e ltraid i ! /ﬁo.:,xs :/./)’30‘»_25 i/ﬁ‘zo:.,m KF0e20 |
n e ; z s
. When the moon comes between the earth! ‘ : E 5
and the sun, it is called: iLunar eclipse :Solar eclipse :Equinox 'Solstices ;
n V- A :_.lc_t‘lalulxuﬁarulu"ubw.J/,b(o LA St A ‘f"r ; O O O O
L | i i —
3. The average speed of ‘western lies’ is: §1o-15 km/hr  118-20 km/hr  120-25 km/hr ;25-30 km/hr g O O O O
] - BibAsSuiind P 5532 M5 10 3 58328 20181 585 2K 252201 23 2 K 30225 !
. H ‘ H : ;
__ Which branch of geography deals with map. ; .Commerual ;
F making? ' Cartography iAstrography Oceanography geography E O O O O
- e ¥ e Sl S iR b SIK | 1200 By | e i
. : i 1] I i
Where was Al-Mugadasi born? iMorocoo . fran Palestine 1 Egypt
" *L U5 S oY Lot L ; O O O O
_ s | s | |
. Temperature of the inner core of the earth |s i
nearly: ' ; :
. ° 1 2500° ° . ° :
i L st b Lw  2000°C  2500°C :3000 C :3500 c O O O O
- | : 5 ; s
n Leeward side of the mountain does not: : : ; E
receive: 1Flood " iCyclone :Fronts +Rainfall :
7. ! ' ; ' ;
n S s ngnwt,;i.,u_« oL 3.:,/ EJ’9 5 o O O O
E" Page1of2 |
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l IQuestion Jir ! A E B E c ; D LA l B l c | D
The height of Tibet plateau is: . 4500m 5000m 5500m 6000m O O O O

e e : : : :

The percentage of Nitrogén in the§ ‘ .
g, Almosphere s:  i7oos%  i730s%  ire0s% 7808 O O O O

-« /Iﬁ’&f}/ﬂcufdmp/‘: ! ! ' '

5 i Atiantic :
10. The Mariana Trench lies |f1 the: . EPamﬁc Ocean ':Ocean Elndxan Ocean ArCtIF: Ocean O O O O

e Cht (XY P LI A oy e A !

The cluster of stars is called: 'Solar system : Asteroids :Galaxy ESateIIites

11. : ) : , ‘
.u,?a: :{_‘//éu,ul'/i tfﬁrlbl E’LJL/ EUW EL/P(‘JIIT E O O O O

‘Tensional ! ‘Volcanic , '

Block mountains were formed due to: iforces iFolding i Activity 1 Erosion

12. Ay Do At L .
Y R 2 S s S Nzl LS des T g i o O O O

‘Atlantic ! Indian i : Pacific E

California current is the current of: ‘Ocean ' Ocean i Arctic Ocean : Ocean :

13. H ) \ . i '
et f¥ ORIV ) Lo ey LA ; ©c O O O

According to height, clouds are divided into : 5 : i E

main types. E : ; f ;

14. . e |2 : 3 : 4 t 5 )
b U Uk LSk | 3 § ] O O O O

Jupiter has satellites. E E . : E ;

15. 9 110 11 12 ;
et Lo | = | | 0 0 0 0
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| Time allowed: 20 Minutes © 000 ®©0 006006000
) Section - A is compulsory. All parts of this @ @ @ @ @ @ @ @ @ @ @
. section are to be answered on this page and
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. Deleting/overwriting is not allowed.
‘ Do not use lead pencil.
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.
n ® ©@ ® ® ® © ® ®© ® ® ©
» Answer Sheet No.
Ay e s LS Ly s £ )y . Invigilator Sign.
| Fill the relevant bubble against each question according to curriculum: Candidate Sign.
- Question J;,r} A B ﬁ (o D A l B | c l D I
| : 'Get 'Get personal ' :Teaching !
The main objective of education is to: ‘Knowledge isatisfaction Get job istudents | O O O O
i - G S P YA 2 TRV SRR AT :
! A child gets his early training at/from: ?Home ‘College :Society ‘Mosque E O O O O
. -;x/‘)’ e %;JU:J&J,{.E e .f,s’ s flos s 3
- The thing that can be experienced and! . : .
observed is called: ‘Knowledge Art | 'Religion :Science !
' g LT ponis £ 220 F to btd W ! o O O O
| E : : E :
- The most important factor influencing the§
human character is: 'Wealth 'Race i Learning ' Heredity :
. < JPQ'}'(?IUI:LMJI,CI}'I/_._AJ/LUUIE.:Ju Eg}" E(b? E.:ﬁ'l/; E O O O O
o | i i | s
| : :From E : E :
B How were the culture and civilization: generation to :By formal : ; ;
transferred in the past? :generation  :education By institutions | By society ; O O O O
i Vilnybffdﬁ:%l("ufftifudj Ec.(yd—/ E;uum ic_,;;b‘ i
g Vhich of the following is NOT related to the Weak eye  iParents  iMenta § :
individual differences? i sight rquarrel ‘abilities iInterests :
6. ' . - . i :
u Sl S P o e olss bR BEbA A UG e 5 © O O O
Publishing and printing of the course book isiCurricqum EHEC éText Book éBISE :
Il the responsibility of: iwing E {Board Lot AT O O
RS Y v 7 CEL N WPyt EC IS
-
[ | Page 1 0f 2 |
]




L]
W
O
o
>
m
O
O
u uulh

l Question . ' Jir | A
Imam Ghazali () divided curriculum into} i : E E
categories. 1 Two ‘Three \Four 'Five '
8. ;. I [ ! L : O
-(‘.‘.(_/(-)Ju/’ /yLﬁLUI'}rUE» iu: e :ég : O O O .
E {Allama Igbal |Imam GhazaliImam Abu | n
' i S ' i 1 . L i
; “ ; ; ial AL i 7 i 5 1Hanifa 5) _
g, According towhom “Man is a social animal .sAnstotIe E(clflf) (Ky ) () O O O O n
e g S LI IRLS L0t el VA el :
Education given in particular educational: 7
institutions by particular teachers and: E ]
curriculum is called education.  :Formal tNon formal ;In formal 1Irregular :
10. . ; 5 | ; ' : - J O O O Q 3
(:'Ud"i—fyk)'!&_’-—/ié:guulpﬂ/u/;‘"rgﬂu,/blo’.udy‘":U{/ ;Lf//f :tfzr: eal e ; .
0 : : E ! i -
When does a child tries to make his! Hn E ; ; u
argument more justified? In boyhood !adolescence 'In childhood :ln all periods !
11. - | : : ; O O O O
te b S St anlsf UG £ Ve I IR ! u
Which institution helps in carrying out:Curriculum ! 'Text Book !
research at high level? iwing ‘HEC :Board i BISE i .
12. 3 g D e : ! !
9+,€u.,,;,wu/_i£.=.yfu:&f‘45’ L‘é‘:g,ﬁ,&f/ Eu%’uffﬁ:,;y oot et AT | O O O O
| | s e | u
In which stage the proportion of body parts .
DOES NOT remain balanced and: : ! ' ;
13, beautiful. ’ Elnfancy 5Ch||dhood EBoyhood EAdoIescenoe 5 O O O O .
ot s AR L S L RGPS R Dt Dtk ; ,
14, The process of change in human being is: ERapld ESIO:N EContlnuous EStJort O O O O
e Sebesonn |z o S e i [
Who said “Knowledge is the Muslim's lost gHazrat EAIEma Iqbal o glm?m Ghazali
15 heritage gain it whenever you find it"? Adam (&) 1 () {Hazrat Ali (852 (44) : O O O O ]
fb;l&gﬁugz+¢l/nﬂJuiWH‘"JWLJf Pl v Btk P Fe e et .
oS 5 ; : ;
—1SA-l 2320-1201 — .
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Time allowed: 2:40 Hours

GEOGRAPHY SSC-I

by

Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION - B (Marks 36)
Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)
0] What is meant by ‘geography’'?
(i) What is meant by weathering?
iii) What is barometer? Name the types of Barometer.
(iv) Write down the effects of rotation of the earth.
(v) What are satellites?
(vi) Write a short néte on troposphere.
(vii) Describe any three causes of oceanic currents.
(viii) Write a short note on the inner core of the earth.
(ix) Write briefly about convectional rainfall.
(x) Give any three advantages of tides.
(xi) Briefly explain ‘lines of latitudes’.
(xii) Enlist any three oceans of the world.
(xiiiy ~ What are dormant volcanoes?
(xiv)  Describe the relationship of Geography with Sociology.
(xv) How does wind cause chemical erosion?
(xvi)  What is the difference between sea and ocean?
(xvii)  How are depositional plains formed?
(xviii)  Write briefly about valley and mountain breezes.
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)
Q.3 Discuss the contribution of Al-Bairuni in the field of geography.
Q.4 What are plateaus? Describe their types and effects on human life.
Q.5 Describe the horizontal distribution of temperature.
Q.6  Write a comprehensive note on clouds.

— 18A-Il 2321~—
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S s (X) N E S AL (iX)
AL pg L (il Sl F P (i)
SIhF AL 52 (XiV) Sl SUBF T (Xi)
Sebn I A (W) e S FS SIS (x)
N e AL SIE wnE (xviii) it Lued? (xvii)
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(3x8=24) (g Lot S Dired <3
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SECTION - A (Marks 15)
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Section - A is compulsory. All parts of this
. section are to be answered on this page and @ @ @ @ @ @ @ @ @ @ @
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i Answer Sheet No.
u
. gy e LHESL e Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
FJQuestion oot A { B { ¢ { D iA[B]c]| D]
u What was the name of Hazrat Ibrahim’s () | Hazrat i'Hazrat iHazrat iHazr at
» son? {Yousaf () !Younus () :lsmaeel (i) :Yaqoob (%) O 0 O O
u rl:(‘g,é?.?l/,l.:,/'z’ir_k/g.:,/'" Eifgg/v EU:‘wg/v i.f,ﬁ*.’g/'* ;
- a é | z :
] | | | § |
The number of “Kiraman Kaatibeen” is: iTwo ‘Three ' Four 'Five
n e et o e 4 O O O O
- I E i : f
. The number of men in the second migrationi 5
to Habshah was: ! ' ‘ ! !
3. .. 175 .85 195 1105 :
] o T Sum 2 2o il ! i 5 : E © 0 0 0
L . s | s |
' Namrood was the King of: ilran EChina éGreece élraq
‘ AU o oty I/ : o 0 O O
| 2 i E | E
n i s | |
IHow many kinds of Jama Salim are there? |Two iThree ‘Four Five 5
. vwru‘ld’rgfﬂt/& » u.’ 1 &g - O O ' O O
__ | | é i |
e S | : : ! :
The Holy Prophet Hazrat Muhammad i E ; ;
- (u;r.‘J l(" ¢) stayed in the cave of Thaur for: éSlx days §Five days iFour days  :Three days O O O O
vg(gu,zfu:,ﬁ,w.(m”.;c) AT i oy gu;ég ‘ U : el
n z | s = |
Who was the Prophet (045 whose stick: ; ; ; ;
became a serpent as soon as it was throwana},Zrat Isa EHa‘zrat Musa iHa‘zrat Saleh EHa’zrat Nuh
on the earth? 1 (B25) [0 (1) L) O. 0O O O
i TG EE s W E S fulie o e Lo i '
. i :
a
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| Question Jir

What does the Holy Quran call the wife of;
Pharaoh? ' ‘Monina 'Muslima Saleha

A

WSSt Sy} e

>y

‘
t
'
1
]
'
1
1
[l

On the occasion of migration to Madina; 'Hazrat Khalid
whom did the Holy Prophet: iz art 'bin Waleed

4};3'%' (u;:fjlf’u)order to lay on his bed? iHanzaIa (8 i(y‘%)
BE o Lo 1S L 7o) B T v Le pilse o sz
Lor AL (I P0)!

Hazrat Ali(i";’l%)

?ﬁ‘c,/"’ U‘pf"’

'
t
[
v
'
1
¢
'
'
'
'
'
'
]
'
)
'
)
1
'
1
'
'
t
]
1
i
'
'
'
'
'
'
'
'
'
]

The few people who belived in Hazrat Isa

Immigrant iGuardian

(82%) were called: Havari Relative
o S : O 0 O O
?Lng)JyRL’JLUUQI4(ﬂ¢/’ T M2, 2\ ey

'
'
s
t
t
'
'
'
]
]
'
'
1
'
'
)
i
1
1
1
1
'
'

What does “%ei " mean?

2 Reformer
11.

WS et

Well wisher
u’f.[..;

Comforter Sympathetic

O
O
@)
O

Py g

?%wg{“&;} ”e

O
O
e
e
S B EREEREBERSEERERE g ™

How many types of “Kalma” are there? Three Four Five Eight
12. - - >
s 6L e & 27
The meaning of “,&3d" is? Majestic Creator Superb Guard

13.

Se bk Fh g S Bl

In Arabic “J437" is: Noun
oo M L

Simile

¥

Particle
b7

Verb
S

14,

]
'
'
'
'
1
'
1
i
i
v
'
|
'
]
'
L
i
)
'
'
'
'
)
)
1
1
'
1
1
'
'
]
'
T
'
'
1
'
1
v
1
'
'
'
'
'
'
'
7
)
'
'
'
)
'
1
i
t
'
'
'
'
'
'
'
'
+
+
'
'
'
'
'

'
'
'
]
]
1
'
1
1
1
Il
)
)
1
'
1
]
t
'
i
¢
i
'
'
]
'
'
'
'
1
'
'
'
'
i
‘
.
'
'
]
:
'
'
'
'
'
)
)
]
t
v
]
v
v
|
'
1
1
'
'
'
]
1
'
'
'
'
'
)
'
1
'
t
T
'
'
'
]
'
'
1
)
1
1
¢
1
v
t
1
[
T
'
'
'
'
'
'
'
'
1
1
'
l
'
'
1
]
)
)
)
]
]
¢
'
'
'
]
'
'
]
)
'

'
'
'
'
'
]
'
'
)
)
t
t
]
'
'
!
i
'
'
'
]
'
1
'
'
'
'
)
)
)
i
1
]
T
‘
'
'
'
'
'
'
'
)
1
¢
i
i
‘
'
'
T
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'
'
]
1
'
'
'
'
'
'
]
'
'
T
1
1
]
'
1
'
'
'
t
'
]
'
'
'
'
'

15 How many types of rights are there? ' Four Six Two Five
(-'qu‘kffb(au L e g » ; (;& .
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Time allowed: 2:40 Hours

ISLAMIC STUDIES SSC-|

Y

Total Marks Sections B and C: 60

NOTE: Answer all the questions from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

(L8]

SECTION — B (Marks 36)

Translate any TWO of the following Quranic Verses Idiomatically:

s

\

618268 B $E=3aB g 35 £ 3 a5 PG 41585 31373;‘

< ¢

. 9 2 -2 ”’ s oy - ,’ {’ 0 [
E) e, s 8,7 22 ’uu(),;t,ﬂv o
@»*-?t/u ..,,yJ »—C-'-z,.\.c«w)»ws- ),(.,.g)' ;’ -

S LSl SN 33 5 SAB 3 A0 G388 2 s S A e 452

< 7
ae

b.

()
(ii)
i)
(iv)
v)
(vi)
(vii)

WCT R R PGP SE O LRI & L8l sl

e.

Note:
Q.3

Q. 4

Q.5

Q.6

30 o
LYoyt

Explain the meanings of any TWO of the following Quranic verses.

1

SRS ’1;
@ S A TG T S UES Uil s K G S S0 5345

VAL g "%;:é,’zsw V2 & 2 G B 4

e \féy\ﬁj
Write short answers to any FIVE of the following questions:
Write any two qualities of “Rasool and Paighamber”.
What is meant by “Terteel” (£7)?
Which year is called “year of grief'?

Write any two miracles of Hazrat Musa ().

How many people were included in first migration to Habshah?
What is meant by cleanliness of house?

What was the real (old) name of Madina?

Translate and explain any ONE of the following Ahadis and describe how we
can apply them in our daily life.

Explain the difference between J* vl (and JE2 (. Also give examples.

SECTION - C (Marks 24)

Attempt any THREE questions. All questions carry edual marks.

Write the recitation etiquettes of the Holy Quran.

Write a note on preaching struggle of Hazrat fbrahim (6%).

Highlight the importance of obedience of the Holy Prophet ﬁf‘ (w:" lf’(&).

Write the notes on the following:

Incident of Black Stone (14 b. Finality of Prophethood

— 18All 2322—

(2 x 4 = 08)

(i)

(ii)

(i)

(2 x 4 = 08)

(i

(ii)

(i)

(5x2=10)

(06)

(i)

(04)

(3 x 8 = 24)
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1t/ L r(03)ef <07 :.L;(y.m,»m(az,(u,.o.u,,;Qdeu" SrerdcyzlatirLprstne s
_ -u“‘ leﬂC Stz
(36/-r'l f)("”,._/
(2x4= 08) -z ,,1;1.,(@!,.’{‘}1' ) ,,‘;Jf;.uﬂdj.gu‘f Ay

O10oet AL BT RS GE S PSP NAI NS IR [ U
@‘5»33& &3 Ol 22z §3 )5 ;:.&Law"’ AR TN ok o Ao R L
\& ,\u (CAJTATE R Tt &»’,J‘ | G508 it i S AV g abv s

- (i)
;5%;-“.’. L.r—

(2x4= 08) </ l:(f(alf&f}»d&fagﬁdiejﬂ —

AT A Ay T

pRa”

@ ol A B 22T G s LT 5 (s} 3 5321 2 sl 58 SeRlRYs

”

TS A U 45 peh e TS & 23 & B e 56

6,9 ,"),&“ /’ P

(5x2=10) ez B LerDbedd 2
-u"f L7 _Ju,:_»a,éf L /r.i.?/;ldr/ (i)

e ()

PRIRTS S DUty S ()

g lsrep W)

e Jer T Lz V)

Sed e Ssid W)

WYt )S s (Vi)

(0_6) LA (‘j bJu ;JIJ‘F b1zl G ;:.Z?Véw-g(f( -
M'vd»adwylu»il s8olsads, ol hegielsfags @ _ )uwmwuwj (i)
@4 P E S SNSRI ST
(3x8=24) (s Loyt gL Jrd )

S LS st T Ay
4/1”6 2i S LdF T (sl iy
0N u/,:«‘?*d/(u.'.'-"ﬂ I76) g Jr szl 0 A1y
:g:“'i LA Lin Ay
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Answer Sheet No.
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Fill the relevant bubble against each question according to curriculum: Candidate Sign.

F Question Jri A 1 B 1 ¢ ! b iAlB]c]op]
. Basically, Arab society was: éUrban iDeveIoped ;:Tribal ?Metropolis O O O O
?wm)v,//r/}d)g}.idi ::ﬁk(jj ; ’g g‘_ﬁj‘g,ﬁ‘ i

Sasanid government was established in: iPersia ‘Rome 1Syria ‘North Africa ! O O O O
‘ PR W A s e P |
’ What was the religion of the majority of thei
Arabs before Islam? rJewism ‘Idol worship :Christianity :Zorastrism
- G ribe TIPS e ot 107 redls 1 gt : o 0 0 O
. 'Hazrat éHazrat Ayub iHazrat Yahya iHazrat Ismaeli
B Mustaarib Arab are the descendants of: lfYaqoob (%) E(M‘}) g(fﬁi";') E(W'z"%) ' O O O O
SpdS o f e e e Wi
H iQusai bin ::Ummayya bin gFahr bin
Who held the title of Quresh? Abdul Mutlib ;Qalab ‘Harab 1Malik :
» W e o Hor® 7 Mo : o 0 O O
Holy  Prophet (f’jﬁg"’) i /8 was| o ) '
. accompanied with in his journeyEH,alzrat Ali ng’zrat Bilal EH.azrat ,Zald;, EHazrat‘f\bu :
6. to Taif. H(EE) HED) bin Haris (4) | Bakr (88) O O O O
N ?wufa?ué(m”:('u) AP R e e W bgaie e e o i
. . iHazrat i
. Who proposed to dig up trench in Ghazwa-ijzratA“ iS&"a;llman Farsi EHazratA‘S‘; EH’jzrat Kaab .
;. e-Khandig? {(£5) (£8) {Ubaida (55) (56) O O O O
| Wb oA aA 58 205, 5 e o e E
n Page 1of2 |
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| Question Jr A B c D POA ] B I (o] I D ’
Which of the following tribes signed Treaty of P B
Hudabiya and made agreement with the: : ‘Banu )
Muslims? 1Banu Khazaa Banu Bakr  ;Banu Tamim |Mustalaq :

8. . . . . . : B
Ao e U Lt 2 S5 4 il LS e rriitun 5 LA L OB ; © O O O

o 5 ; : ; [ |
Which of the following tax is imposed on non-i |
Muslims only? +Ushar 1Jiziya yKhums 'Fay '
9. . ' l Al 1 ] |
?c‘_CQU))/jJ/J?U:(c.u:uI f/’" E:'Z EU) i E O O O O .
;Hazrat Abu .
In Muwakhat-e-Madina, who was madeiHazrat Zubair gHazrat Abu ;Hazrat Ali ;Ayub Ansari .
10, brother of Holy Prophet (B#)(u="76)? L) ‘Bakr (48) (4% L) | O O O O
‘-'L)/&JWQ'L(M'FG)%/PIL}B‘J(U.‘.';:;&[:‘I}’E;_'.J&/"’ E%»ﬂ.:,/'" EU‘:«/’ E&/La)l.,«_flﬂa/"’ E .
Hazrat Zaid Hazrat Bilal Hazrat Ameer Hazrat |
1, Who held the title of Muazzan-e-Rasool? ~ |bin Sabit (58) {(<%)) {Muawiya (48) |Hanzala (58) | O O O O |
TIEJKJ/JV/QJ;'E:I.L‘MZ/’@/'" EUIL..:,/’ i;:bl/l_",/'" iilb)a/’ 'E .
Which pious caliph (g»“;g) died of naturaliHazat Abu §Hazrat Umar éHazratAIi iHazrat .
? ' Bakr (4% (S (g8 ‘Usman (%) !
|, causes , k (345) :SJ) :f ) i (55) 'O O O O |
tdneA Lol 2s? b o h e 2 A Fe o -2 |
Oath of Rizwan (o= i) was taken in ! Hazat:;bu ! Hazrat N ; Hazrat . : szrat Ali ! -
13, the name of: { Bakr (4) ! Umar (4) 1 Usman (68) | (48) O O O O
. ?Jdértéiﬁl/ﬁ(jfulﬁ/pg i h/-(,{lc,/"’ :: ;faﬂ é ;Jlﬁ’.:«/'" i ﬂ‘c.v/” § .
' Hazat Abu | Hazrat i Hazrat ! Hazrat Ali
1. Who biilt the city of kufa? } Bakr (38) | Umar () | Usman (58) | (48) ! O O O O o
WS LS Fne L e - D e ; R
Where did Hazrat Ali (45) shift capital from |
Madinah? ' Makkah ' Kufa 'Damascus  :Busra : ]

15. ) Vo e e P :

WA e sasini Fep | X s e LS ; © O O O -
——1SA-11 2323-1231 — [ ]
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ISLAMIC HISTORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2

) SECTION — B (Marks 36)
Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)

(0 What was the geostrategic importance of the Yathrib(Madina)?

(i) Why were the trade caravans of the Quraish not looted?

(i) Who were the rulers of Rome, Persia and Abasyn at the advent of Islam?
(iv) Why did Abraha attack Makkah?

(v) Enlist the main reasons of the Arab tribal wars.

(vi) Describe briefly the role of Abdul Mutalib in the early life of Hazrat Muhammad (Hﬁﬁ'f‘) (cl,,‘.'.fdlr’(é).

- (vii) Write names of any three Ghazwat.

Note:

Q.3
Q.4
Q.5

Q.6

(viii)  Give any three examples of the political wisdom of the Holy Prophet G12) (w:f”l("u).

(ix) Narrate any three rights of the slaves introduced by the Holy Prophet ) (riv).
r’

(x) Enlist the sources of constitution making in Islam.
(xi) How was the issue of migrants solved after the migration to Madinah?

(xii) Which points (conditions) of the treaty of Hudabiya were not liked by the Muslims?

(xii)  What did Hazrat Abu Bakr (4%) say in his first speech after becoming caliph?

(xiv)  Why did Hazrat Umar (4%) suspend Hazrat Khalid bin Walid (%) from generalship?
(xv) How did Hazrat Usman (9’5) solve the issue of water of the Muslims of Madina?
(xvi)  What was the role of Hazrat Ali (b’*“i%) in the conquest of Khyber?

(xvii)  Which countries were conquered by Hazrat Abu Ubaida Ibnul Jarrah(ﬁ”b'?)?

(xviii)  Write down the services of Hazrat Saad Ibne Abi Wagqas (5”’5) for Islam.

SECTION - C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)

Why did Quraish oppose Islam? Comment.

What reforms were introduced by Hazrat Umar (%) during his caliphship?

What stéps were taken by the Holy Prophet 12 (u;:ﬂ:(“u)as an administrator of the state of Madina?

Write down the services of Hazrat Al (y"‘“'c?/') for the cause of Islam.

—1SA-l1 2323—
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-Lﬁ lgL:fg lu;ldl-:agli.ﬁgf. Q_‘;{,L&b’(}liéf J y:.uf.J.‘ .-,yzéamréu ’-LL’LP» 41-2 :;U.“rr/;l (2242 s

(36, 2593wt
(10) - 128 3] Tl DA g Szl

Q. No. 2:Translate the following verses into Urdu or English:
S8 5 ghdl I b6 G
Ji L“@ai’#@ LM&AL‘ Gy

2

Gaslal 53 Jwetial g

I @ iEehs]
(06) A | 39 Jd ) 9o 55 88 - s ) s

Q. No.3 Put ERAB on any THREE of the following sentences:
Al G dliie s & B3l (0
Sl A bl (ii
B dudulaa) s 1B 5 0 Sensi e (iii)
oledlaaiensl s (iv)
o sl i oo B (v)

(08) 2358 a8 933 e gl s
Q. No.4 Change any FOUR of the following verbs into Past (Mazi):
s (i) Joi (i) BV (i)
i\e (vi) &% (v) & (iv)

Page 1 of 2 (Arabic)
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Q. No.5 Attempt any ONE of the following parts:

% makesentencess o (04 %5 LU
eyl 0

sbep@laadadigt W

g Bagge iz )

RPN A 2 IV PP PG VR )

L

b. Correct the following sentences: (04) 545&14\;5& -
2 2 .
_Qgselly 321334 521G (i

s slgshaicid) §E30 58I o8 (ii
\L;Jim;g,aw j\a;s,l (iii)
i bl 3058 ()
(08) | oAt inghds shasr] agaiz) ol Jlswd)

Q. No.6 Use any FOUR of the following words in sentences:

PR (i) fst (i bz A (i)
#laz (vi) 0 (v) i (iv)

244 St 341
GesdsliyaessdipgaomaiSise e ol by

(Give detailed answers to any THREE of the following questions in Arabic)

(08) _ Sasaslsal Ssadeatd Jociedl 3 Jre gl 9t o £ sl gl
Q. No.7 Write an essay on “The birth of the Holy Rasool(?@‘ﬁ)(wgl JR N

(08) _agridl s L0, 585 o T e BBl Y alay o BT sl Jl sl
Q. No.8 Write a letter to your father demanding him five thousand rupees to buy books and other study material.

(08) ~“ag el olens a5 7 38 Vs o BT pulal s
Q. No.9 Write an essay on “Islamic Republic of Pakistan”.

(08) “ax w\@ngJwaJl)ﬁ,fTbm > 189G .51l

Q. No.10 Write an essay on “Hazrat Abu Bakr Siddique (%%) .
—— 1SA-ll 2324—
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- Answer Sheet No.
- -(J://_ :G/’byu&l&féﬁyg/’rédﬂ_;&\rédiyﬁ InVig"ator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
F|Question Jtré A B Cc D EA]BICID’
] 'Computerized! ‘Electric ! f
in what type of sewing machine are the discs: sewing Hand sewing :sewing iFoot sewing !
. used? imachine imachine imachine imachine O O O O
tudedUs L SRS i ket (B hd e sy itk o dhdeun |
. Slide plate is used to fix and remove the: iNeedIe gBobbin iFeed dog iThread lever O O O O
_‘c,JlaJéLTé.Lt_J.ﬁuu.ﬁ:( b i E (j)’ E JA E PRy i 6L s E
Which two colors are mixed together to »formé iYelIow+ EYeIIow+
. green color: i Yellow+ Blue |Green :Yellow+ Red :Purple ;
) ?‘L-@c.i_lﬁfu;fn)u(..ﬁfilkﬂg E/‘H},@ EC/-H&_ E(f"“‘u.:f- E O O O O
' Whyl the accurate measurement isiFor good éAccording to iFor good gFor good
. necessary for dress making? 1designing iseason fitting idressing ; O O O O
' ?‘ad»/’u:fw.;,té'{,[.d;g‘fuyi c__’.é:uﬁ’l'/_ﬁo{l Ec_c;rl'/d/ff Eé—&\.&é’&" Eééuﬁ‘,ﬂ'o‘fl E
n s a e e s
' ‘ :Chest & ! '
] measurements are important for: iChest & full icenter back |
5. the basic pattern of children. EChest & waist length Elength EChest & hips 5 O O O O
N It e ol d it mSBbuE ] Sl WSl s ady A e -
. Why the tension of both lower and the upperi For exercise iFor EFor good
6. thread should be equal? Eof stitching ;controlling iFor designing istitching O O O O
. ?z;.(gtnu[/,l/,ig’?ufwui»Luéuf/q;lEQLLO'A"JJW Eé.éd)/'( Eé_Lgf/l'/j Eé_ééﬂ/(ﬁ’l E
n iDoubIe end
The distance between two dart legs is called:; Dart point 1Dart intake  Dart leg 1dart O O O O
i VT L6l n LB sttt i1y LBt /] Yo
n a o i a
Vertical lines emphasize: ' Width Restlessness |Femininity  Length '
ﬁ U Suw bE Gt g e el e E o 0 O O
|
|
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Time allowed: 2:10 Hours
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DRESS MAKING AND FASHION DESIGNING SSC-|

Total Marks Sections B and C: 32

NOTE:

Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately provided
answer book. Write your answers neatly and legibly.

Q.2

Note:
Q.3
Q.4

Q.5

SECTION — B (Marks 18)

Attempt any SIX parts. The answer to each part should not exceed 3 to 4 lines. (6 x3=18)
0 What effects can be given to personality with dress?
(i) Briefly explain the types of lines. Also draw these.
(iii) Write the benefits of pattern making.
(iv) What is meant by tracing wheel? Write its uses.
(v) What is thumble? Write the uses of thumble.
(vi) What is Dart? Write the types of Dart. How is it used in dresses?
(vii) What is design? Describe the types of design.
(viii)  Write the basic principles of sewing.
SECTION — C (Marks 14) -
Attempt any TWO questions. All questions carry equal marks. (2x7=14)
Why is dress so important in different social and economic societies?
Write down the names and functions of simple sewing machine.
Write notes on: Grain line of Patten (b)  Form
(1 8’ J/)Fu_/’
(6x3 = 18) :u:." 2o L pr ok L,tzn(os)gf_dfc.m).s.yp iy
U E st S e oY (i)
St i S ol SIS0 (ii)
IS L g (iii)
e e dsky ()
S el e LR e o (v)
S bl AU YIS F p I st e et (vi)
UL _wu;J(LJlJ uﬁyj?“;;l ya's Lgﬁyj (vii)
Sl L0 (viil)
2 A
(14 S)f v o
(2x7=14) s ALt P ES Jirna )
S Ui U YU o oL sl Sl il AUy
._gjfﬂr%;!rtéu;]/,:ﬁdfoﬁ‘(jﬂ/ul/ :I"/;'?db’
:J.‘.’”V LI ln 0 /:;db’

Q) g SSus QN
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ELECTRICAL WIRING SSC-I
SECTION - A (Marks 08)

Time allowed: 20 Minutes

Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.

up:f &b’.q; sl /f bfé_:/')’ (1] :.QU!LJI_{_UJUJ!I)?
IS e S e S

©e 06O 0 e O
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Answer Sheet No.

S S nQo LIS L o2 L, InvVigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

wllll]’“..l.’ll.lll.l.lﬂl

Question oo! A ¢ B i ¢ { b ia|lB]c]|obp]
Any object usually has views in: ! f
Geometrical and technical drawings. 1 ] ' ' :
A 12 4 H) '8 H
(el S R B S e : : : : © O O O
Ll : : S E
The bodies that show too much resistance in' E E :
the passage of current are called: iConductors ilnsulators  :Coil iCell
n 24 uﬁ*tu‘.’u‘ul;-ug).-//.utst(,L.v/zru.mi/fiﬂ’ gﬂf'l éJ'n/ J.’ ©c O O O
) 5 5 f
~ The unit of flux density is: 'Volt ' Second EW_eber ‘Tesla O O O O
- _‘gan Jlﬂ(f;walffs o) E/L.C ) Elk.“ E
] The work done in a unit time is called: §Power iWeight fForce gEnergy O ' O O O
-ujg I(KZZUL‘.:J,JKI E b :: s E s EJl:l; i
- % z z z :
. Two or more than two cells are connected ini
to obtain more voltage. :Series ‘Parallel :Compound  :Short '
5. ¢ 2 ; i : ; :
- Juﬁa ._LLL/Jl(o@"’:myfu’.(.’uyz_»gn:'/_/,( 1o :i‘:y’ oy ‘ O O O O
_ bz ! E : 5 5
| is used as electrolyte solution ingHydrochloric : '
lead-acid battery. .acid iAcetic acid i Tartaric acid Sulfuric acid | O O O O
o e tareiesy ¥y S ooty A ik LS E
Filament in electric lamp is made of?
- metal. ESiIver ETqusten ECopper EAIuminum :
e balates Oy AP % ¥ g ; © o0 O O
Phase tester is used to identify éPhase &
- wire electrical wiring. | :Phase only !Neutralonly :Earthonly :Neutral both ! O O O O
. bt L e S EI R B Ve L FAS il
. ——18A-Il 2328-1281 ——
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ELECTRICAL WIRING SSCI

Time allowed: 2:10 Hours Total Marks Sections B and C: 32

NOTE: Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately provided

answer book. Write your answers neatly and legibly.

SECTION — B (Marks 18)

Q.2 Attempt any SIX parts. The answer to each part should not exceed 3 to 4 lines. (6 x3=18)
(i) Briefly explain electric current. Write its unit as well.
(i) What is magnetic flux? Write its unit.
(iii) In a series circuit, three resistors of 25 ohms, 35 ohms and 40 ohms are connected with 220 volt source.
Find the total current of the circuit.
(iv) Write formulas for determining electrical power.
(v) Compare cell and battery.
(vi) Describe the benefits of the Moving Coil System.
(vii) Write a short note on concealed conduit wiring.
(viii)  Make the following electrical symbols with lead pencil:
(a) Voltmeter (b) Ceiling fan (c) Coill
SECTION ~ C (Marks 14)
Note: Attempt any TWO questiohs. All questions carry equal marks. (2x7=14)
Q.3 a. What is meant by resistance? Write laws of resistance.
b. An aluminium wire length is 200m. If the diameter of this wire is 1.5mm, find the resistance of wire.
Q.4 If 40 lamps of 100 watt work 8 hours daily in a factory and 8 fans of 80 watts work 12 hours daily, find out the
monthly bill of factory at Rs.1.50 per unit. And also include 50 rupees as meter rent in bill.
Q.5 Whatis a Meggar? Write the names of tests which are done by meggar. Also write detail of any two.
(18~ ‘){)(’”J
(6x3 = 18) .u.‘.J =W 23s.48 FUs )’Jlga.u.‘? éoIZI(OG)gC_JI e LLisin :"/.;Ulr‘
STy Swotos fF S S A (i)
b Lt (il
U/ r}v_u/ SroS /-wﬂéuﬁ.‘/ "oy e Lads22005 1 p S (1405133135 ¢T2125 (iir)
LKL S BS (V)
Sk (v)
LSSk EFT IS Loy (vi)
I S B (vii)
Ky @) A4 ) S (GODShenadE e B s (viii)
(2x7=14) QA Sy s

e LU0 S Drne §5)
ST L ri el p ety Ay
I en pSiein 2S5 S Siie 2ooodU e LA o
A L g 3Ll SO T S 6122000858 L 180 EB s a0 L sisl 00 - Al
SIS DSR2 S0t S e |
SR ol o ,'L'Lufujz_@éc,/?.:ézutjjmﬂ%?(‘_my//?‘ 0,71y

—— 1SA-Il 2328—
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Answer Sheet No.
|
o Y fimendw LS L 2Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
ﬂ | Question Jir A B c D AlBB]c]op|
|
Cabinet Mission came to India in the year:
1 194 194 42
- et 6 940 946 19 1947 O O O O
B Salt deposition on the surface of the soil is
2. known as: ' . Crown rot Salinity Rust Black Knot O O O O
- Tq.rlk’(y/tly(fgid}’d/akﬁ"/‘df}g i) S N3 e
North west
- g Frontier
) According to 3™ June 1947 plan, a referendum Province
3. was to be held in the province: Punjab Bengal (Current KP)  |{Sindh O O O O
. vgg;r}mﬁf;ﬂ/uﬁ‘g,‘fdwégr’él9470;23 b J& B GPJE (s
GFH L)
N
The length of Pakistan's coast line is: 700 km 592 km 1600 km 2250 km
4, -
u te FSGd et | 2 F100 KKso2 ##1600 RF2s0 O O O O
u : iSultan Fateh Al Tipu of Mysore was martyred ‘
. -
. ' . 152 1857 1
m’ Wstdos b | ™ 6 85 885 1799 O O .Q O
- Which one of the following is a mountain range
6 in the province Balochistan? Toba Kakar  {Hamoon Thar Nara O O O O
n ' PN ETS PR ([18 22 SR o) PN I urt Y i :
|
Which one is the national bird of Pakistan? Pigeon Chakor Hawk Falcon
.7' ?‘al/ufai/'d;"lfdl'/&, > J!E -4 uf% O O O O
- zﬁ%?"(?ﬁn issued Legal Frame Work Order _
8. in the year. . <1956 1962 1970 1977
= Wbk RO AT P i © O O O
Who won presidential elections of 1965 against Liaquat Ali Zulfi .
A h - gar Al
By, MissFatimah Jinnah? Khan Yahya Khan |Bhutto Ayub Khan O O O O
' S22 i L L o A1 ae L1965 | o Y e 2 s St
|
Which of the following areas were unfairly Gurdaspur, Sukkur, Faisalabad, :
-10 annexed to India at the time of partition? . Mardan, Kohat | Pathankot Nawabshah, |Sargodha,
) JU!ilfﬁ:«/lé/,/;".‘l&ﬁ:'ﬁ;b{u;"’d.fc,u:o}(w ::’JL{:‘I ..‘,Q;(:ul:/ :A(ul;';u{‘/luf al‘;.__al)r/’c lwf/ugfd‘g O O O O
B si/l,/]
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Time allowed: 2:15 Hours Total Marks Sections B and C: 40

PAKISTAN STUDIES SSC-I

NOTE: Answer any eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 24)

Q.2 Answer briefly any eight of the following questions. (8 x 3 =24)

(i)
(if)
(i)

(iv)

What is meant by ‘ideology’? Write down its sources as well.

When was Muslim League Legislator's convention held? Which resolution it adopted? Write briefly.
How did the results of elections of 1945-46 prove that Muslim League was the only representative
party of Muslims of India?

When and why the Quaid-e-Azam (mi/) was given the title of Ambassador of Hindu Muslim Unity? Who
gave him this title?

(v) What was the reaction of Congress, British Press and the Hindu Newspapers on Lahore resolution
19407

(vi) Narrate any three points of Simla Conference 1945.

{vii) Give brief introduction of: (@) The Hindukush mountain range (b) Safed Koh range

(viii)  Whatis a ‘glacier'? Write down the names of at least four glaciers of Pakistan.

(ix) Write the location of Pakistan with respect to latitude and longitude. Also name the countries which
share border with Pakistan.

(x) Write down contributions of Liaquat Ali Khan as Prime Minister of Pakistan.(Any three points)

(xi) ‘ Which system of democracy was introduced by Ayub Khan? Narrate its two responsibilities.

SECTION — C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. {(2x8=16)

Q.3 Explain the ideology of Pakistan in the light of the Quaid-e-Azam Muhammad Ali Jinnah's (ﬁ‘z'fzf)

pronouncements.
Q.4 Discuss the characteristic features of upper and lower Indus plains with respect to the properties of land.

Q.5 Why 1962 constitution did not meet the expectations of people? Write down any six salient features of 1962

constitution. |
(24 Iy
(8x3 = 24) -E1F ez P Loy (08) Tl bdstnr Ay

Sy Ll Le, B (i)

I S o0} s T S P S s (i)

S ot eslans Vs S £ 321 0 G F LB L A1 L 46-1945 (iii)

Wl 3 A1 s IS (e #2146 (iv)

06 S oW 313l R LS as FE L1940, (v)

ekt < 3 L1945) S FrAE (vi)

gl () i P nd () 25 O G (vii)
bl B e Lo st 2 (Vi)

..q..ac.ul/(l'(»/)/uwtfd/(/frbLJVUI/-J/UVC)’;J{KUV(L:—LQLAJ‘J:I’/;UJ'JALJ” (IX)

(2x8=16)

Le8f e dN@tebels Y Lt ()
ZE L F U s E 18U S DA (B e oy (i)
(16 J)f r
e LuhrP-gEf ez lctirne )
Fesbafursl, S .:J»*/'Lrﬁ’ A6 Ay
S ekor® S S 1IN L it N1 Loy St s o Ay
ek g 8L fTL19625€ 51 20U st Sp oL TH1962 07y
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HEALTH AND PHYSICAL
EDUCATION SSC-I

SECTION - A (Marks 12)

Time allowed: 20 Minutes
Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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Answer Sheet No.

gy fmernlib LS L o2 L, InVigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

HE-ENEEREENEENEENENENENENEN il

| Question i A i B { ¢ { Db i{AlB]c]|oD|

i , 5 S 'Discipline, |
Which type of qualities are developed in:Discipline i Sportsmanship ' Sportsmanship 1

players through physical activities? ronly tonly 'Patience only :and Patience ! O O O O

ALY Yy NV S ANy g Ve RS P N v VO IV P o P S '

n s E g g
, The width of lane in 400m track is: 11.24 11.20m 11.22m 1121 m :

». e width of lane in 4( Trac is : m : : : O O O O
' v.;_dnJ{Ju,;Ju,:"u:u{/‘)f«too;/‘41.24 1 X1.20 2122 K121 :
_ ‘ : H H 1
% How many types of movements are there? 2 5 4 3 :
3. 5 y ' s : . :

u b 7 i &) i (e : o 0 O O

i 7! 12 1236 128 i ‘

_‘ How many bones are there |n.huma1n bod}/ :200 : 50 123 : 6 : O O O O
_-— : ?wdnuyj,fu:ﬁdui;y,, Wigrs :uﬁ‘gr:: Sy :
‘ : ; 5Only iMental, ;
8  The objective of physical education is:Only mental :Only physical | . 1physical and. !

5. development. : ; ;emotional temotional 1 O O O O
n e brlhs® w2 Fio Hdue Ot e sl
gm  hatis the height of net for men in the game | E : ! :

M ot volley ball? , i243m  i2.34m {2.24m i2.25m O O O O
- ?‘aandy ks d Lum ot dudn H2.43 12234 ‘ H2.24 F£2.25
"~ What would be the length of pit for; i : : :

long/broad jump? (10 m i9m 112m 11m ; O O O O
_. + 1 L} L ]
s vq_Jx‘fnyJg_;m.:’_LJ%dfkw 29 K12 ) ;
M What should be the weight of shot-put for E : : 5

T men? 17.260kg  i7kg 17.50 kg 16 kg O O O O
Sebalunbl S Lun i /K260 iS5 i /#7150 1/ 5
How many points are there in volley ball first: ; : E E

j.  four games? 130 121 125 120 O O O O
T van&thgﬁyﬂlg&ﬂ;:d;dui : : :
M Fom which language has the word: :

10. 'gymnastics’ been derived? 1Greek :German 1Persian 1 Arabic : O O O O
| teVistevhi” e} oy 2 o By 5
What is the width of court in badminton: ; : ; :

!1. double’s game? E5.18‘m 56.18m E6m E6.10m | O O O O
A tednlig e Sl Lobe LA bl K508 126.18 X6 12610 !
L How many ways are there to change the! E : : :
baton? ' ' : : '

2. - 5 12 4 ] O O O O
L e Cih e AT : | | |
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Answer Sheet No.
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Fill the relevant bubble against each question according to curriculum: Candidate Sign.

| Question . A | B | ¢ Db :alB]c]|D]|
In branch of geography, we studyi : , '
the resources of the world. i Physical iCommercial Human ‘Regional O O O O
B S I LA Sapic? Y U i
5 }Mount 5
is the highest peak of Pakistan. iNanga Parbat:Everest K-2 i Tirch Mir ' O O O O
< J%dﬁkﬂ;w&u%ia/_m' E._‘/J‘_v_‘l..‘/’,al. E;L E/Zy/' E
Smooth fertile areas are called: iDesert 'Plateau ‘River 'Plain
_uji f:"_lkf.:/)/iﬂiub.rz 56’-/5’ EQ» iul,&/ E O O O O
Artificial forest of Changa Manga is situatedg gKhyber ' .
in province. {Punjab 1 Sindh ‘Pakhtunkha 5 Baluchistan ; O O O O
_c‘;gbd:,,y" &J/ﬁ/{“ml{ E b E Py 5:’:”%% E ul’?,)l‘ i
Economy of Pakistan depends on: EFishing éAgricuIture iMining ilndustry
ey AWz Sueig s ey s fese i o O O O
type of vegetation is mostly foundi i Thorny
in deserts. 'Natural grass i Dense forests :bushes i Fruit trees '
U "lo(j&:at'b(f(a /“u&)ddl"x{/ E Jlo@/ﬁ Ealﬁ’é E W hEY 2._-9'»/!:‘){ E O O O O
Approximately inches of total: , ' :
annual rainfall occurs in Pakistan. 5 110 15 120 |
b LB e » s e O O 0O O
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is the oldest occupation of the§ ;
8. people of Pakistan ) iAgnculture iTrade Banking il\./hnlng O O O O
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is the largest food crop in Pakistan. ! Cotton 'Wheat ' Tobacco ESugar cane
9. ., : , - '
e S fe S Y e Y s O O O On
| | e | n
There are types of cottoni |
cuitivated in Pakistan. 2 '3 4 5
10. . ) . H '
ey Gt in {of " 164 o O O O ||
11 Natural gas wa:s: discovered in Paklftan in: 1948 11952 11062 11973 O O O O
it st : : : »
In Pakistan, first atomic power plant was: :
established in: ilslamabad  iLahore : Karachi Multan .
12. , ! ' : :
Vs )qufm,;u:ub@ ;;gfru/l Lxl 5@1/ Lot O O O O 7
Mangla dam has been constructed on ! ; ; ' -
river. 'Indus ‘Ravi rJehium i‘Chenab
13. , 1 : ; .
-9?_“;’74&/) r-ﬁli{% Em// id}l/ Erv E\..alg O O O O .
Pakistan state oil (PSO) was established | f : : ]
in: ! : : :
14, y 11948 1998 11990 1976
An GEPsO)STe 2 wed | P i ; o O O O |
Pak-Arab oil refinery is established near: E'Karacr'\i §Lahore iFaisalabad ?Quetta -
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COMMERCIAL GEOGRAPHY SSC-I

Time allowed: 2:40 Hours ‘Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)
(i) Briefly explain commercial geography.
(i) What is the importance of commercial geography for students?

(iii) What is meant by business?

(iv) What is meant by international trade?

(v) Why is population of rural areas migrating towards urban areas in Pakistan?
(vi) Write names of the resources found in Pakistan.

(vii) Give some suggestions to improve the growth of agricultural sector of Pakistan.
(viiiy  Write names of the types of cotton in Pakistan.

(ix) Write names of the cash crops of Pakistan.

(x) What is meant by dairy farming?

(xi) Mention some advantages of fishing.

(xii) Write names of the basic minerals found in Pakistan.

(xii)  In which areas of Pakistan have iron ore deposits been discovered?

(xiv)  What is the importance of precious stones in Pakistan?

(xv)  Write the significance of natural gas.

(xvi)  Write a short note on hydroelectricity. |

(xvii)  In which cities of Pakistan are thermal electricity stations located?

(xviii)  Which country helped Pakistan in making second atomic power plant and when?

SECTION — C (Marks 24)

Note: Atterﬁpt any THREE questions. All questions carry equal marks. (3 x 8= 24)
Q.3 Explain the assistance of trade in detail. |

Q.4 Explain the types of forests in Pakistan.

Q.5 Write a detailed note on the favourable conditions for wheat cultivation and wheat producing areas of Pakistan.

Q.6  Write a detailed note on the power minerals of Pakistan.

—— 1SA-ll 2344—
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